Chapter 13
“How Well Am I Doing?” Statement of Cash Flows
True/False
1. An increase in long-term notes payable is considered to be a financing activity and a source of cash on the statement of cash flows.

Level: Medium    LO:  1,2    Ans:  T
2. Under the indirect method of determining the net cash provided by operating activities on the statement of cash flows, an increase in accounts receivable would be deducted from net income to arrive at net cash provided by financing activities.

Level: Hard    LO:  2,3    Ans:  F
3. A loss on the sale of an asset would be deducted from net income in computing cash from operating activities under the indirect method on the statement of cash flows.

Level: Hard    LO:  2,3    Ans:  F
4. Under the indirect method of determining the net cash provided by operating activities on the statement of cash flows, an increase in accounts payable would be recorded as a deduction from net income.

Level: Medium    LO:  2,3    Ans:  F
5. Under the indirect method of determining the net cash provided by operating activities on the statement of cash flows, an increase in inventory would be added to net income.

Level: Medium    LO:  2,3    Ans:  F
6. In computing the net cash provided by operating activities under the indirect method on the statement of cash flows, a decrease in accounts payable would be added to net income.

Level: Medium    LO:  2,3    Ans:  F
7. An increase in a prepaid expense would be deducted from net income in computing net cash provided by operating activities on the statement of cash flows under the indirect method.

Level: Medium    LO:  2,3    Ans:  T
8. A gain on the sale of equipment would be included as part of a company’s investing activities on the statement of cash flows.

Level: Medium    LO:  2    Ans:  F
9. Payment of cash dividends to shareholders is considered to be an operating activity on the statement of cash flows.

Level: Medium    LO:  2    Ans:  F
10. Payment of accrued taxes is considered an operating activity on the statement of cash flows.

Level: Medium    LO:  2    Ans:  T
11. The sale of preferred stock for cash would be classified as an investing activity in the statement of cash flows.

Level: Medium    LO:  2    Ans:  F
12. The collection of a long-term loan made to a supplier would be treated as an investing activity on a statement of cash flows.

Level: Medium    LO:  2    Ans:  T
13. Borrowing on a long-term note would be considered a financing activity and a source of cash on the statement of cash flows.

Level: Medium    LO:  2    Ans:  T
14. (Appendix) Under the direct method of determining the net cash provided by operating activities on the statement of cash flows, an increase in inventory would be deducted from cost of goods sold to convert cost of goods sold to a cash basis.

Level: Hard    LO:  4    Ans:  F
15. (Appendix) Under the direct method of determining the net cash provided by operating activities on the statement of cash flows, a decrease in prepaid expenses would be added to operating expenses to convert operating expenses to a cash basis.

Level: Hard    LO:  4    Ans:  F
Multiple Choice
16. Which of the following would be considered a "source" of cash for purposes of constructing a statement of cash flows? 
A) a decrease in accounts payable. 

B) dividends paid to the company’s own shareholders. 

C) an increase in accrued liabilities.

D) an increase in prepaid expenses. 

Level: Medium    LO:  1    Ans:  C
17. Which of the following would be considered a "source" of cash for purposes of constructing a statement of cash flows? 
A) a decrease in accounts receivable. 

B) an increase in prepaid expenses. 

C) an increase in accrued liabilities.

D) an increase in plant and equipment. 

Level: Medium    LO:  1    Ans:  A
18. Martin Corporation uses the indirect method to prepare its statement of cash flows. If Martin purchases additional equipment, which results in additional depreciation charges, what net effect will the purchase of this additional equipment have on the net cash provided (used) in the following sections of Martin’s statement of cash flows?
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Level: Hard    LO:  2,3    Ans:  E
19. Under the indirect method of determining net cash provided by operating activities on the statement of cash flows, which of the following would be recorded as a deduction from net income? 

A) A decrease in accounts receivable?

B) An increase in accounts payable.

C) A decrease in accounts payable.

D) An increase in deferred revenue.

Level: Medium    LO:  2,3    Ans:  C
20. An increase in accounts receivable of $1,000 over the course of a year would be shown on the company’s statement of cash flows prepared under the indirect method as: 

A) an addition to net income of $1,000 in order to arrive at net cash provided by operating activities.

B) a deduction from net income of $1,000 in order to arrive at net cash provided by operating activities.

C) an addition of $1,000 under financing activities.

D) a deduction of $1,000 under financing activities.

Level: Medium    LO:  2,3    Ans:  B
21. A decrease in the taxes payable account of $1,000 over the course of a year would be shown on the company’s statement of cash flows prepared under the indirect method as: 

A) an addition to net income of $1,000 in order to arrive at net cash provided by operating activities.

B) a deduction from net income of $1,000 in order to arrive at net cash provided by operating activities.

C) an addition of $1,000 under financing activities.

D) a deduction of $1,000 under financing activities.

Level: Medium    LO:  2,3    Ans:  B
22. Shoshoni Corporation prepares its statement of cash flows using the indirect method. Which of the following would be added to net income in the operating activities section of the statement?

[image: image2.png]A)
B)
<)
D)

Increasen
Accounis
Recenvable
Tes
Tes
No

No

Decreasein
Accounts
Payable

Tes
No
Tes
No




A)  A above

B)  B above

C)  C above

D)  D above

Level: Medium    LO:  2,3    Ans:  D
23. Fawn Corporation prepares its statement of cash flows using the indirect method. Which of the following would be added to net income in the operating activities section of the statement?
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Level: Hard    LO:  2,3    Ans:  C
24. Adah Corporation prepares its statement of cash flows using the indirect method. Which of the following would be deducted from net income in the operating activities section of the statement?
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Level: Medium    LO:  2,3    Ans:  D
25. Tomlin Corporation prepares its statement of cash flows using the indirect method. Which of the following would be deducted from net income in the operating activities section of the statement?
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Level: Medium    LO:  2,3    Ans:  A
26. (Appendix) During the year the balance in the accounts receivable account increased by $6,000. In order to adjust the company’s net income to a cash basis using the direct method on the statement of cash flows, it would be necessary to: 

A) deduct the $6,000 from the sales revenue reported on the income statement.

B) add the $6,000 to the sales revenue reported on the income statement.

C) deduct the $6,000 from the cost of goods sold reported on the income statement.

D) add the $6,000 to the cost of goods sold reported on the income statement.

Level: Hard    LO:  2,4    Ans:  A
27. (Appendix) Wesi Corporation prepares its statement of cash flows using the direct method. Which of the following should Wesi classify as an operating activity on its statement?

[image: image6.png]A)
B)
[5)
D)

Dividends | Tazes

Paid
Tes
No
Tes
No

Paid
Tes
Tes

No
No




A)  A above
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Level: Medium    LO:  2,4    Ans:  B
28. In a statement of cash flows, a change in accounts receivables would be classified as: 

A) an operating activity.

B) a financing activity.

C) an investing activity.

D) a noncash item that need not appear on the statement of cash flows.

Level: Easy    LO:  2    Ans:  A
29. In a statement of cash flows, a change in the taxes payable account would be classified as: 

A) an operating activity.

B) a financing activity.

C) an investing activity.

D) a noncash item that need not appear on the statement of cash flows.

Level: Easy    LO:  2    Ans:  A
30. In a statement of cash flows, a change in the plant and equipment account would ordinarily be classified as: 

A) an operating activity.

B) a financing activity.

C) an investing activity.

D) a noncash item that need not appear on the statement of cash flows.

Level: Easy    LO:  2    Ans:  C
31. In a statement of cash flows, a change in the bonds payable account would ordinarily be classified as: 

A) an operating activity.

B) a financing activity.

C) an investing activity.

D) a noncash item that need not appear on the statement of cash flows.

Level: Easy    LO:  2    Ans:  B
32. In a statement of cash flows, a change in the common stock account would ordinarily be classified as: 

A) an operating activity.

B) a financing activity.

C) an investing activity.

D) a noncash item that need not appear on the statement of cash flows.

Level: Easy    LO:  2    Ans:  B
33. Which of the following should be classified as a financing activity on a statement of cash flows? 

A) cash received from the sale of merchandise.

B) cash received from the sale of equipment.

C) cash received from the issuance of bonds payable.

D) both A and B above

E) none of the above

Level: Medium    LO:  2    Ans:  C
34. Hauta Corporation prepares its statement of cash flows using the indirect method. Which of the following would be deducted from net income in the operating activities section of the statement?
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Level: Medium    LO:  3    Ans:  C
35. Which of the following is not considered to be a cash equivalent for purposes of preparing the statement of cash flows? 

A) Accounts receivable.

B) Treasury bills.

C) Money market funds.

D) Commercial paper.

Level: Easy    LO:  5    Ans:  A
36. Frizz Hair Salon had net income of $93,000 for the year just ended. Frizz collected the following additional information to prepare its statement of cash flows for the year:
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Frizz uses the indirect method to prepare its statement of cash flows. What is Frizz’s net cash provided (used) by operating activities? 

A) $92,000

B) $102,000

C) $120,000

D) $126,000

Level: Medium    LO:  2,3    Ans:  B
37. Majorn Auto Parts Store had net income of $81,000 for the year just ended. Majorn collected the following additional information to prepare its statement of cash flows for the year:
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Majorn uses the indirect method to prepare its statement of cash flows. What is Majorn’s net cash provided (used) by operating activities? 

A) $41,000

B) $(53,000)

C) $185,000

D) $279,000

Level: Hard    LO:  2,3    Ans:  B
38. On January 1, Joyuda Corporation sold a building for $350,000. The building was purchased eight years ago for $400,000. The accumulated depreciation on the building on the date of sale was $128,000. Joyuda uses the indirect method to prepare its statement of cash flows. What net effect will this sale have on the net cash provided (used) in the operating activities section of Joyuda’s statement of cash flows? 

A) no effect

B) $78,000 increase

C) $78,000 decrease

D) $50,000 decrease

Level: Hard    LO:  2,3    Ans:  A
39. The following information relates to Jelsa Corporation for last year:
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What is Jelsa’s net cash provided (used) by operating activities for last year on the statement of cash flows? (Assume that current liabilities do not contain any notes payable.) 

A) $54,000

B) $58,000

C) $68,000

D) $100,000

Level: Medium    LO:  2,3    Ans:  D
40. The following information relates to Siem, Inc. for last year:

[image: image11.png]Net income.

Net increase in all current assets except cash.
Net decrease in current iabilities

Dividends paid on common stack
Depreciation expense.

Gain on sale of building

$5,000
$43,000
$27,000
$25,000
$30,000
$11,000




What is Siem’s net cash provided (used) by operating activities for last year on the statement of cash flows? (Assume that current liabilities do not contain any notes payable.) 

A) $8,000

B) $(17,000)

C) $(46,000)

D) $(71,000)

Level: Medium    LO:  2,3    Ans:  C
41. Klutz Dance Studio had net income of $167,000 for the year just ended. Klutz collected the following additional information to prepare its statement of cash flows for the year:
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Klutz uses the indirect method to prepare its statement of cash flows. What is Klutz’s net cash provided (used) by operating activities? 

A) $95,000

B) $137,000

C) $185,000

D) $207,000

Level: Medium    LO:  2,3    Ans:  D
42. Morgan Company’s net income last year was $73,000 and cash dividends declared and paid to the company’s stockholders totaled $14,000. Changes in selected balance sheet accounts for the year appear below: 
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Based solely on this information, the net cash provided by operations under the indirect method on the statement of cash flows would be: 

A) $89,000

B) $78,000

C) $68,000

D) $154,000

Level: Hard    LO:  2,3    Ans:  B
43. Mori Company’s net income last year was $25,000 and cash dividends declared and paid to the company’s stockholders totaled $10,000. Changes in selected balance sheet accounts for the year appear below: 
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Based solely on this information, the net cash provided by operations under the indirect method on the statement of cash flows would be: 

A) $46,000

B) $4,000

C) $36,000

D) $37,000

Level: Hard    LO:  2,3    Ans:  A
44. Moretta Company’s net income last year was $32,000 and cash dividends declared and paid to the company’s stockholders totaled $14,000. Changes in selected balance sheet accounts for the year appear below: 
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Based solely on this information, the net cash provided by operations under the indirect method on the statement of cash flows would be: 

A) $24,000

B) $36,000

C) $16,000

D) $48,000

Level: Hard    LO:  2,3    Ans:  D
45. Nornang Company’s net income last year was $47,000. Changes in selected balance sheet accounts for the year appear below: 
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Based solely on this information, the net cash provided by operations under the indirect method on the statement of cash flows would be: 

A) $77,000

B) $89,000

C) $79,000

D) $17,000

Level: Medium    LO:  2,3    Ans:  A
46. Norman Company’s net income last year was $26,000. Changes in selected balance sheet accounts for the year appear below: 
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Based solely on this information, the net cash provided by operations under the indirect method on the statement of cash flows would be: 

A) $50,000

B) $35,000

C) $17,000

D) $63,000

Level: Medium    LO:  2,3    Ans:  B
47. Four years ago, Sulu Corporation purchased a $75,000 long-term investment in bonds of another corporation. During the current year, this investment was sold for $80,000. Sulu uses the indirect method to prepare its statement of cash flows. What effect will the above transaction have on the investing activities section of Sulu’s statement of cash flows for the current year? 

A) $80,000 increase

B) $5,000 decrease

C) $5,000 increase

D) $75,000 increase

Level: Medium    LO:  2,3    Ans:  A
48. (Appendix) Severn Corporation prepares its statement of cash flows using the direct method. Last year, Severn reported Income Tax Expense of $27,000. At the beginning of last year, Severn had a $2,000 balance in the Taxes Payable account. At the end of last year, Severn had a $5,000 balance in the account. On its statement of cash flows for last year, what amount should Severn have shown for its Income Tax Expense adjusted to a cash basis (i.e., income taxes paid)? 

A) $20,000

B) $22,000

C) $24,000

D) $30,000

Level: Medium    LO:  2,4    Ans:  C
49. (Appendix) Honalo Corporation had net sales of $515,000 for the just completed year. Shown below are the beginning and ending balances of various Honalo accounts:
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Honalo prepares its statement of cash flows using the direct method. On its statement of cash flows, what amount should Honalo show for its net sales adjusted to a cash basis (i.e., cash received from sales)? 

A) $479,000

B) $526,000

C) $545,000

D) $551,000

Level: Hard    LO:  2,4    Ans:  A
50. (Appendix) Khmer, Inc. had cost of goods sold of $114,000 for the just completed year. Shown below are the beginning and ending balances of various Khmer accounts:
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Khmer prepares its statement of cash flows using the direct method. On its statement of cash flows, what amount should Khmer show for its cost of goods sold adjusted to a cash basis (i.e., cash paid to suppliers)? 

A) $91,000

B) $123,000

C) $137,000

D) $147,000

Level: Hard    LO:  2,4    Ans:  A
51. (Appendix) Last year Cumpton Company reported a cost of goods sold of $40,000. Inventories decreased by $8,000 during the year, and accounts payable increased by $11,000. The company uses the direct method to determine the net cash provided by operating activities on the statement of cash flows. The cost of goods sold adjusted to a cash basis would be: 

A) $21,000

B) $59,000

C) $32,000

D) $29,000

Level: Medium    LO:  2,4    Ans:  A
52. (Appendix) Last year Cumba Company reported a cost of goods sold of $30,000. Inventories decreased by $7,000 during the year, and accounts payable decreased by $13,000. The company uses the direct method to determine the net cash provided by operating activities on the statement of cash flows. The cost of goods sold adjusted to a cash basis would be: 

A) $23,000

B) $24,000

C) $36,000

D) $43,000

Level: Medium    LO:  2,4    Ans:  C
53. (Appendix) Last year Lawrence Company reported sales of $100,000 on its income statement. During the year, accounts receivable decreased by $15,000 and accounts payable decreased by $20,000. The company uses the direct method to determine the net cash provided by operating activities on the statement of cash flows. The sales revenue adjusted to a cash basis for the year would be: 
A) $95,000

B) $115,000

C) $105,000

D) $120,000

Level: Hard    LO:  2,4    Ans:  B
54. (Appendix) Last year Lawson Company reported sales of $140,000 on its income statement. During the year, accounts receivable decreased by $20,000 and accounts payable increased by $15,000. The company uses the direct method to determine the net cash provided by operating activities on the statement of cash flows. The sales revenue adjusted to a cash basis for the year would be: 
A) $175,000

B) $105,000

C) $125,000

D) $160,000

Level: Hard    LO:  2,4    Ans:  D
55. (Appendix) Cridland Company’s operating expenses for last year totaled $220,000. During the year the company’s prepaid expense account balance decreased by $2,000 and accrued liabilities decreased by $6,000. Depreciation charges for the year were $15,000. Based on this information, operating expenses adjusted to a cash basis under the direct method on the statement of cash flows would be: 

A) $231,000

B) $239,000

C) $209,000

D) $201,000

Level: Medium    LO:  2,4    Ans:  C
56. (Appendix) Criddle Company’s operating expenses for last year totaled $260,000. During the year the company’s prepaid expense account balance increased by $24,000 and accrued liabilities increased by $15,000. Depreciation charges for the year were $33,000. Based on this information, operating expenses adjusted to a cash basis under the direct method on the statement of cash flows would be: 

A) $302,000

B) $236,000

C) $218,000

D) $284,000

Level: Medium    LO:  2,4    Ans:  B
57. (Appendix) Crider Company’s operating expenses for last year totaled $240,000. During the year the company’s prepaid expense account balance decreased by $15,000 and accrued liabilities increased by $13,000. Depreciation charges for the year were $23,000. Based on this information, operating expenses adjusted to a cash basis under the direct method on the statement of cash flows would be: 

A) $245,000

B) $291,000

C) $235,000

D) $189,000

Level: Medium    LO:  2,4    Ans:  D
58. (Appendix) The Simplex Company reported cost of goods sold on its income statement of $10,000. The following account balances appeared on the company’s comparative balance sheet for the same year:
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The company uses the indirect method to determine the net cash provided by operating activities. The cost of goods sold, adjusted to a cash basis, on the company’s statement of cash flows for the year would be: 

A) $11,000

B) $10,000

C) $9,000

D) $5,000

Level: Medium    LO:  2,4    Ans:  C
59. (Appendix) Crossland Company reported sales on its income statement of $435,000. On the statement of cash flows, which used the direct method, sales adjusted to a cash basis were $455,000. Crossland Company reported the following account balances on its balance sheet for the year:
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Based on this information, the beginning balance in accounts receivable was: 

A) $50,000

B) $40,000

C) $30,000

D) $20,000

Level: Hard    LO:  2,4    Ans:  A
60. (Appendix) Duke Company reported cost of goods sold last year of $270,000 on its income statement. Additional information concerning the company’s closing and opening account balances last year follows:
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Duke Company uses the direct method to determine the net cash provided by operating activities on its statement of cash flows. What amount should Duke report as cash paid to suppliers in its statement of cash flows for last year? 

A) $242,000

B) $268,000

C) $272,000

D) $298,000
Source: CPA, adapted
Level: Medium    LO:  2,4    Ans:  D
61. Last year Marks Company sold equipment with a net book value of $135,000 for $110,000 in cash. This equipment was originally purchased for $215,000. What will be the net effect of this transaction on the net cash provided by investing activities on the statement of cash flows? 

A) A net addition of $105,000 to cash.

B) A net deduction of $105,000 from cash.

C) A net addition of $25,000 to cash.

D) A net deduction of $25,000 from cash.

Level: Hard    LO:  2    Ans:  B
62. Last year Marymoor Company sold equipment with a net book value of $95,000 for $70,000 in cash. This equipment was originally purchased for $130,000. What will be the net effect of this transaction on the net cash provided by investing activities on the statement of cash flows? 

A) A net addition of $25,000 to cash.

B) A net deduction of $25,000 from cash.

C) A net addition of $60,000 to cash.

D) A net deduction of $60,000 from cash.

Level: Hard    LO:  2    Ans:  D
63. The following transactions occurred last year at Joyce Company:
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Based solely on the above information, the net cash provided by financing activities for the year on the statement of cash flows would be: 

A) $306,000

B) $21,000

C) $(92,000)

D) $27,000

Level: Hard    LO:  2    Ans:  D
64. The following transactions occurred last year at Jost Company:

[image: image24.png]Issuance of shares of the company’s own cormmon stock
Dividends paid to fhe company’s own shareholders

Dividends received from investments in other companies” shares.
Interest paid on the company's own bonds

Repayment of principal on the company’s ovn bonds

Proceeds fom sale of the company’s used equipment

Purchase of land

$170,000
$7,000
$4,000
$11,000
$40,000
$23,000
$120,000




Based solely on the above information, the net cash provided by financing activities for the year on the statement of cash flows would be: 

A) $112,000

B) $123,000

C) $375,000

D) $19,000

Level: Hard    LO:  2    Ans:  B
65. Martin Company’s cash and cash equivalents consist of cash and marketable securities. Last year the company’s cash account increased by $42,000 and its marketable securities account decreased by $61,000. Cash provided by operating activities was $140,000. Net cash used for financing activities was $102,000. Based on this information, the net cash flow from investing activities on the statement of cash flows was: 

A) a net $103,000 increase.

B) a net $103,000 decrease.

C) a net $38,000 decrease.

D) a net $57,000 decrease.

Level: Hard    LO:  3    Ans:  D
66. Last year Burke Company’s cash account decreased by $17,000. Net cash used in investing activities was $19,000. Net cash provided by financing activities was $25,000. The net cash flow provided by (used in) operating activities on the statement of cash flows was: 

A) $(11,000)

B) $(17,000)

C) $(23,000)

D) $6,000

Level: Medium    LO:  3    Ans:  C
67. Last year Burach Company’s cash account increased by $20,000. Net cash used in investing activities was $34,000. Net cash provided by financing activities was $12,000. On the statement of cash flows, the net cash flow provided by (used in) operating activities was: 

A) $20,000

B) $42,000

C) $(2,000)

D) $(22,000)

Level: Medium    LO:  3    Ans:  B
68. Excerpts from Dibello Corporation’s comparative balance sheet appear below:

[image: image25.png]ZEnding Balance | Beginming Balance
Cash and cash equivalents $22,000 $27,000
Accounts receivable $19,000 $22,000
Inventory 77,000 74,000




Which of the following classifications of changes in balance sheet accounts as sources and uses is correct?

A) The change in Accounts Receivable is a source; The change in Inventory is a source

B) The change in Accounts Receivable is a source; The change in Inventory is a use

C) The change in Accounts Receivable is a use; The change in Inventory is a use

D) The change in Accounts Receivable is a use; The change in Inventory is a source

Level: Easy    LO:  1    Ans:  B
69. Excerpts from Old Corporation’s comparative balance sheet appear below:

[image: image26.png]Ending Balance | Beginning Balance
Cash and cash equivalents 435,000 $26,000
Accounts payable $15,000 $19,000
Accrued wages and salaries payable. 39,000 $35,000




Which of the following classifications of changes in balance sheet accounts as sources and uses is correct?

A) The change in Accounts Payable is a source; The change in Accrued Wages and Salaries payable is a use

B) The change in Accounts Payable is a source; The change in Accrued Wages and Salaries payable is a source

C) The change in Accounts Payable is a use; The change in Accrued Wages and Salaries payable is a source

D) The change in Accounts Payable is a use; The change in Accrued Wages and Salaries payable is a use

Level: Easy    LO:  1    Ans:  C
70. Excerpts from Raimo Corporation’s comparative balance sheet appear below:

[image: image27.png]Ending Balance | Beginning Balance
Cash and cash equivalents $42,000 $30,000
Property, plart, and equipment $411,000 $389,000
Long-term debt, $83,000 79,000




Which of the following classifications of changes in balance sheet accounts as sources and uses is correct?

A) The change in Property, Plant, and Equipment is a use; The change in Long-Term Debt is a source

B) The change in Property, Plant, and Equipment is a source; The change in Long-Term Debt is a use

C) The change in Property, Plant, and Equipment is a source; The change in Long-Term Debt is a source

D) The change in Property, Plant, and Equipment is a use; The change in Long-Term Debt is a use

Level: Easy    LO:  1    Ans:  A
71. Waldrop Corporation’s comparative balance sheet appears below:
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Cash and cash equivalents
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Property, plant, and equipment
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Net property, plant, and equipment
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The company’s net income (loss) for the year was $4,000 and its cash dividends were $1,000. The total dollar amount of all of the items that would be classified as sources when compiling a simplified statement of cash flows is:

A) $45,000

B) $14,000

C) $31,000

D) $30,000

Level: Medium    LO:  1    Ans:  A
72. Cezar Corporation’s comparative balance sheet appears below:

[image: image29.png]Assets:
Current assets:
Cash and cash equivalents
Accounts receivable
Inventory
‘Total current assets
Property, plant, and equipment
Less accumulated depreciation
Net property, plant, and equipment
‘Total assets

Liabiliies and Stockholders” Equity
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Accounts payable
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Retained earnings
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$40,000
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199,000

33,000
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The company’s net income (loss) for the year was $10,000 and its cash dividends were $4,000. The total dollar amount of all of the items that would be classified as uses when compiling a simplified statement of cash flows is:

A) $53,000

B) $40,000

C) $44,000

D) $9,000

Level: Medium    LO:  1    Ans:  C
73. Degeare Corporation’s balance sheet and income statement appear below:

      Comparative Balance Sheet
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Cash and cash equivalents
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       Income Statement
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Cash dividends were $10. The company sold equipment for $18 that was originally purchased for $10 and that had accumulated depreciation of $5. The net cash provided by (used by) operations for the year was:

A) $73

B) $76

C) $43

D) $63

Level: Medium    LO:  2,3    Ans:  D
74. Autry Corporation’s balance sheet and income statement appear below:

      Comparative Balance Sheet
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        Income Statement
[image: image33.png]Sales.
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Cash dividends were $40. The company sold equipment for $19 that was originally purchased for $6 and that had accumulated depreciation of $4. The net cash provided by (used by) investing activities for the year was:

A) $19

B) $140

C) ($159)

D) ($140)

Level: Medium    LO:  2,3    Ans:  D
75. Marbry Corporation’s balance sheet and income statement appear below:

       Comparative Balance Sheet
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Cash and cash equivalents
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         Income Statement
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Cash dividends were $21. The company sold equipment for $13 that was originally purchased for $10 and that had accumulated depreciation of $7. The net cash provided by (used by) financing activities for the year was:

A) $4

B) ($22)

C) ($5)

D) ($21)

Level: Medium    LO:  2,3    Ans:  B
76. The most recent balance sheet and income statement of Greynolds Corporation appear below:

       Comparative Balance Sheet
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        Income Statement
[image: image37.png]Sales

Less cost of sales

Gross margin

Less operating expenses
Net operating incorne.
Less income tases

Net income

414
265

143
126





Cash dividends were $3. The net cash provided by (used by) operations for the year was:

A) ($9)

B) $41

C) $23

D) $25

Level: Medium    LO:  2,3    Ans:  B
77. Carriveau Corporation’s most recent balance sheet appears below:

Comparative Balance Sheet
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Net income for the year was $172. Cash dividends were $35. The net cash provided by (used by) operations for the year was:

A) $183

B) $246

C) ($11)

D) $161

Level: Easy    LO:  2,3    Ans:  D
78. Kaeser Corporation’s most recent balance sheet appears below:

Comparative Balance Sheet
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The net income for the year was $52. Cash dividends were $9. The net cash provided by (used by) investing activities for the year was:

A) $17

B) $67

C) ($17)

D) ($67)

Level: Easy    LO:  2,3    Ans:  D
79. Klicker Corporation’s most recent balance sheet appears below:

Comparative Balance Sheet
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The net income for the year was $152. Cash dividends were $40. The net cash provided by (used by) financing activities for the year was:

A) ($49)

B) ($40)

C) $4

D) ($13)

Level: Easy    LO:  2,3    Ans:  A
80. Birchett Corporation’s most recent balance sheet appears below:

Comparative Balance Sheet
[image: image41.png]Ending | Beginning
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The net income for the year was $91. Cash dividends were $22. The net cash provided by (used by) operations for the year was:

A) $86 

B) $5 

C) $96 

D) $130

Level: Easy    LO:  2,3    Ans:  C
81. Tani Corporation’s most recent balance sheet appears below:

Comparative Balance Sheet
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The net income for the year was $18. Cash dividends were $4. The net cash provided by (used by) investing activities for the year was:

A) ($45)

B) $45 

C) ($3)

D) $3

Level: Easy    LO:  2,3    Ans:  A
82. Sonier Corporation’s most recent balance sheet appears below:

Comparative Balance Sheet
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The net income for the year was $97. Cash dividends were $19. The net cash provided by (used by) financing activities for the year was:

A) ($43)

B) ($19)

C) ($25)

D) $1

Level: Easy    LO:  2,3    Ans:  A
83. (Appendix) Dorris Corporation’s balance sheet and income statement appear below:

Comparative Balance Sheet
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Income Statement
[image: image45.png]Sales.
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Cash dividends were $7. The company sold equipment for $18 that was originally purchased for $8 and that had accumulated depreciation of $6. The net cash provided by (used by) operations for the year was:

A) $34

B) $35

C) $50

D) $41

Level: Medium    LO:  2,4    Ans:  A
84. (Appendix) The most recent balance sheet and income statement of Dallavalle Corporation appear below:

Comparative Balance Sheet
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Income Statement
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Cash dividends were $12. The net cash provided by (used by) operations for the year was:

A) $77

B) $68

C) $40

D) $14

Level: Medium    LO:  2,4    Ans:  B
85. (Appendix) Brew Corporation’s most recent comparative balance sheet and income statement appear below:

Comparative Balance Sheet
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Income Statement
[image: image49.png]Sales
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Cash dividends were $37. The net cash provided by (used by) operations for the year was:

A) $185 

B) $51 

C) $83 

D) $191

Level: Easy    LO:  2,4    Ans:  A
Use the following to answer 86-87

Samarium Retail Corporation’s most recent comparative Balance Sheet is as follows:

[image: image50.png]Assets

Cash.

Accounts receivable, net
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Accumulated depreciation
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Samarium’s net income was $46,000. No direct exchange transactions occurred at Samarium during the year. No equipment was sold or purchased. Cash dividends of $40,000 were declared and paid. Samarium uses the indirect method to prepare its statement of cash flows.
86. What is Samarium’s net cash provided (used) by operating activities?

A) $(18,000)

B) $(33,000)

C) $69,000

D) $84,000

Level: Medium    LO:  2,3    Ans:  A
87. What is Samarium’s net cash provided (used) by investing activities?

A) $0

B) $(15,000)

C) $25,000

D) $45,000

Level: Medium    LO:  2,3    Ans:  A
Use the following to answer 88-89

Chenay Service Corporation’s most recent comparative Balance Sheet is as follows:
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Chenay’s net income was $35,000. No direct exchange transactions occurred at Chenay during the year. No equipment was sold and no dividends were paid during the year. Chenay uses the indirect method to prepare its statement of cash flows.
88. What is Chenay’s net cash provided (used) by operating activities?

A) $16,000

B) $26,000

C) $80,000

D) $90,000

Level: Medium    LO:  2,3    Ans:  B
89. What is Chenay’s net cash provided (used) by financing activities?

A) $13,000

B) $25,000

C) $(37,000)

D) $(62,000)

Level: Medium    LO:  2,3    Ans:  A
Use the following to answer 90-92

Waste Company’s comparative balance sheet and income statement for last year appear below:
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[image: image53.png]Income Statement
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The company declared and paid $47,000 in cash dividends during the year. The following questions pertain to the company’s statement of cash flows.
90. The net cash provided by (used in) operating activities last year was:

A) $(15,000)

B) $105,000

C) $70,000

D) $155,000

Level: Medium    LO:  2,3    Ans:  D
91. The net cash provided by (used in) investing activities last year was:

A) $(60,000)

B) $60,000

C) $(30,000)

D) $30,000

Level: Medium    LO:  2,3    Ans:  A
92. The net cash provided by (used in) financing activities last year was:

A) $57,000

B) $(57,000)

C) $10,000

D) $(10,000)

Level: Medium    LO:  2,3    Ans:  B
Use the following to answer 93-95

Megrey Company’s net income last year was $82,000. Changes in the company’s balance sheet accounts for the year appear below:
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The company declared and paid cash dividends of $28,000 last year. The following questions pertain to the company’s statement of cash flows.
93. The net cash provided by (used in) operating activities last year was:

A) $90,000

B) $156,000

C) $82,000

D) $148,000

Level: Medium    LO:  2,3    Ans:  B
94. The net cash provided by (used in) investing activities last year was:

A) $85,000

B) $(85,000)

C) $105,000

D) $(105,000)

Level: Medium    LO:  2,3    Ans:  D
95. The net cash provided by (used in) financing activities last year was:

A) $48,000)

B) $(48,000)

C) $20,000

D) $(20,000)

Level: Medium    LO:  2,3    Ans:  B
Use the following to answer 96-98

Meguro Company’s net income last year was $77,000. Changes in the company’s balance sheet accounts for the year appear below:
[image: image55.png]Debit balances
Cash
Accounts receivable
Inventory
Prepaid expenses
Long term investments
Plant and equipment

Credit balances
Accumuated depreciation
Accounts payable
“Accrued labilities
Tazes payable
Bonds payable
Deferred taxes
Common stock
Retained earnings

Increases
(Decreases)

45,000
$1,000
$(4,000)
$(5,000)
$40,000
$25,000

70,000
$(5,000)
46,000
$14,000
$(50,000)
$(6,000)
$20,000
$13,000




The company declared and paid cash dividends of $64,000 last year. The following questions pertain to the company’s statement of cash flows.
96. The net cash provided by (used in) operating activities last year was:

A) $164,000

B) $77,000

C) $147,000

D) $94,000

Level: Medium    LO:  2,3    Ans:  A
97. The net cash provided by (used in) investing activities last year was:

A) $65,000

B) $(65,000)

C) $45,000

D) $(45,000)

Level: Medium    LO:  2,3    Ans:  B
98. The net cash provided by (used in) financing activities last year was:

A) $(94,000)

B) $94,000

C) $(30,000)

D) $30,000

Level: Medium    LO:  2,3   Ans:  A
Use the following to answer 99-100

Spad Company recorded the following events last year:

[image: image56.png]Issuance of shares of the company’s own common stock
Purchase of bonds issued by other companies

Dividends paid to the company’s own shareholders

Dividends received from investments in other companies’ shares.
Repayment of principal on the company’s own bonds

Interest paid on the company’s own bonds

Callection of the principal amount of a loan made to another company
Purchase of equipment

$350,000
$60,000
$36,000
$16,000
$260,000
$3,000
$220,000
$330,000




On the statement of cash flows, some of these events are classified as operating activities, some are classified as investing activities, and some are classified as financing activities.
99. Based solely on the information above, the net cash provided by (used in) financing activities on the statement of cash flows would be:

A) $54,000

B) $1,275,000

C) $51,000

D) $299,000

Level: Hard    LO:  2,3    Ans:  A
100. Based solely on the information above, the net cash provided by (used in) investing activities on the statement of cash flows would be:

A) $(1,275,000)

B) $(390,000)

C) $(170,000)

D) $(650,000)

Level: Hard    LO:  2,3    Ans:  C
Use the following to answer 101-102

(Appendix) On December 31, Year 1, Rex Corporation borrowed $100,000 from the Third National Bank of Springfield. Rex has five years to pay off the note. On December 31, Year 2, Rex paid $9,000 of interest on the loan and paid off $20,000 of the loan. Rex uses the direct method to prepare its statement of cash flows.
101. What effect will Rex’s loan have on each section of its Year 1 statement of cash flows?

[image: image57.png]A)
B)
[5)
D)

Operating Activities | Investing Activifies

no effect
$100,000 increase

1o effect

no effect

$100,000 decrease
1o effect

$100,000 increase
1o effect

Financing Activities
$100,000 increase
no effect
no effect
$100,000 increase




A)  A above

B)  B above

C)  C above

D)  D above

Level: Medium    LO:  2,4    Ans:  D
102. What effect will Rex’s interest and loan payments have on each section of its Year 2 statement of cash flows?

[image: image58.png]Operating Activities | Investing Activities | Financing Activities

A)| §9,000 decrease | §20,000 decrease 1o effect
B) | $9,000 decrease no effect $20,000 decrease
C) | $29,000 decrease no effect 1o effect

D) no effect $3.000 decrease | $20,000 decrease




A)  A above

B)  B above

C)  C above

D)  D above

Level: Medium    LO:  2,4    Ans:  B
Use the following to answer 103-104

 (Appendix) Narley Dude Corporation had net sales of $720,000 and cost of goods sold of $385,000 for the just completed year. Shown below are the beginning and ending balances for the year of various Narley Dude accounts:

[image: image59.png]Cash.

Accounts receivable
Inventory

Accounts payable

Ending | Beginning
$34,000 | §20,000
$49,000 | §19,000
$67.000 | $44,000
$15,000 | $21,000




Narley Dude prepares its statement of cash flows using the direct method.
103. On its statement of cash flows, what amount should Narley Dude show for its net sales adjusted to a cash basis (i.e., cash received from sales)?

A) $690,000

B) $704,000

C) $750,000

D) $755,000

Level: Hard    LO:  2,4    Ans:  A
104. On its statement of cash flows, what amount should Narley Dude show for its cost of goods sold adjusted to a cash basis (i.e., cash paid to suppliers)?

A) $356,000

B) $368,000

C) $402,000

D) $414,000

Level: Hard    LO:  2,4    Ans:  D
Use the following to answer 105-109

(Appendix) The change in each of Klondike Company’s balance sheet accounts appears below:
[image: image60.png]Cash.

Accounts receivable
Inventory

Prepaid expenses
Long-term investments
Plant and equipment
Accumulated depreciation
Accounts payable
Accrued liahilities
Bonds payable
Common stock
Retained earnings

Increase
4,000
5,000
3,000

11,000
5,000

5,000

3,000
3,000

Decrease

6,000

17,000

8,000

12,000




[image: image61.png]Sales $350,000

Cost of goods sald. 150,000
Gross margin 160,000
Operating expense 157,000

et income § 3000





There were no sales or retirements of plant and equipment and no dividends paid during the year. The company pays no income taxes.
The company uses the direct method for determining the net cash provided by operating activities on its statement of cash flows.
105. Using the direct method, sales adjusted to a cash basis was:

A) $345,000

B) $350,000

C) $355,000

D) $359,000

Level: Medium    LO:  2,4    Ans:  A
106. Using the direct method, cost of goods sold adjusted to a cash basis was:

A) $190,000

B) $192,000

C) $188,000

D) $184,000

Level: Medium    LO:  2,4    Ans:  B
107. Using the direct method, operating expense adjusted to a cash basis was:

A) $168,000

B) $155,000

C) $146,000

D) $148,000

Level: Medium    LO:  2,4    Ans:  C
108. The net cash provided (used) by investing activities was:

A) $(6,000)

B) $11,000

C) $(11,000)

D) $6,000

Level: Medium    LO:  2,4    Ans:  D
109. The net cash provided (used) by financing activities was:

A) $(9,000)

B) $(12,000)

C) $20,000

D) $(3,000)

Level: Medium    LO:  2,4    Ans:  A
Use the following to answer 110-115

(Appendix) The comparative balance sheets for Rayco, Inc., are presented below:

[image: image62.png]Cash.

Accounts receivable (nef)
Inventory

Prepaid expenses
Long-term investments
Plant and equipment
Accumulated depreciation
‘Total assets

Accounts payable
Notes payable

Deferred income tastes

Common stock

Retained earnings

Total liabilities and stockholders equity

Ending
$20,000
27,000
32,000
8,000
36,000
108,000
(9,000
182,000

$30,000
40,000
17,000
45,000
50,000
$152.000

Beginning
§ 15,000
25,000
35,000
5,000
35,000
92,000
(0,000
180,000

$38,000
32,000
35,000
40,000
35,000
$180.000




Rayco, Inc., reported the following net income for the year:

[image: image63.png]Sales.

Less cost of goods sold
Gross margin.

Less operating expenses
Net operating income.

Gain on sale of investments
Income before taxes.

Less income taxes.

Net income.

$200,000
100,000
100,000
52,000
45,000
2,000
50,000
20,000
$30.000





There were no sales or retirements of plant and equipment during the year. Dividends paid to shareholders totaled $15,000. The company uses the direct method for determining the net cash provided by operating activities on its statement of cash flows.
110. Using the direct method, sales adjusted to the cash basis would be:

A) $202,000

B) $198,000

C) $200,000

D) $210,000

Level: Medium    LO:  2,4    Ans:  B
111. Using the direct method, cost of goods sold adjusted to the cash basis would be:

A) $95,000

B) $100,000

C) $105,000

D) $108,000

Level: Medium    LO:  2,4    Ans:  C
112. The income tax expense adjusted to the cash basis would be:

A) $18,000

B) $2,000

C) $20,000

D) $38,000

Level: Medium    LO:  2,4    Ans:  A
113. The net cash provided by operating activities would be:

A) $37,000

B) $39,000

C) $30,000

D) $19,000

Level: Medium    LO:  2,4    Ans:  D
114. The net cash provided by financing activities would be:

A) $(2,000)

B) $(10,000)

C) $(15,000)

D) $5,000

Level: Medium    LO:  2,4    Ans:  A
115. The net cash provided by investing activities would be:

A) $(4,000)

B) $(12,000)

C) $(16,000)

D) $4,000

Level: Medium    LO:  2,4    Ans:  B
Use the following to answer 116-117

(Appendix) Last year, Knox Company reported on its income statement sales of $375,000 and cost of goods sold of $140,000. During the year, the balance in accounts receivable increased $30,000, the balance in accounts payable decreased $25,000, and the balance in inventory increased $10,000. The company uses the direct method to determine the net cash provided by operating activities on its statement of cash flows.
116. Under the direct method, sales adjusted to a cash basis would be:

A) $295,000

B) $345,000

C) $405,000

D) $355,000

Level: Medium    LO:  2,4    Ans:  B
117. Under the direct method, cost of goods sold adjusted to a cash basis would be:

A) $105,000

B) $125,000

C) $175,000

D) $155,000

Level: Medium    LO:  2,4    Ans:  C
Use the following to answer 118-121

(Appendix) Van Brun Company’s comparative balance sheet and income statement for last year appear below:

[image: image64.png]Statement of Financial Position

Cash.

Accounts receivable
Inventory

Prepaid expenses
Long-term investments
Plant and equipment
Accumulated depreciation
‘Total assets

Accounts payable
“Accrued labilities

Tazes payable

Bonds payable

Deferred taxes

Common stock

Retained earnings

Total iabilities and owners” equity

Ending
Balance
§ 56,000
27,000
9,000
14,000
260,000
410,000
(70,000)
$566.000

$28,000
31,000
17,000
140,000
31,000
90,000
229,000
§566.000

Beginning
Balance
$31,000
42,000
0,000
13,000
180,000
410,000
(235,000)
$507.000

$ 46,000
17,000
20,000

190,000
19,000
60,000
155,000

§507.000




[image: image65.png]Income Statement

Sales.

Less cost of goods sold
Gross margin.

Less operating expenses
Net operating income.
Less income taxes.

Net income.

$850,000
390,000
460,000
280,000
180,000
54,000
$126.000




The company declared and paid $52,000 in cash dividends during the year. The company uses the direct method to determine the net cash provided by operating activities.
118. On the statement of cash flows, the sales revenue adjusted to a cash basis would be:

A) $850,000

B) $835,000

C) $874,000

D) $865,000

Level: Hard    LO:  2,4    Ans:  D
119. On the statement of cash flows, the cost of goods sold adjusted to a cash basis would be:

A) $390,000

B) $363,000

C) $408,000

D) $417,000

Level: Hard    LO:  2,4    Ans:  D
120. On the statement of cash flows, the operating expenses adjusted to a cash basis would be:

A) $280,000

B) $226,000

C) $334,000

D) $261,000

Level: Hard    LO:  2,4    Ans:  B
121. On the statement of cash flows, the income tax expense adjusted to a cash basis would be:

A) $63,000

B) $57,000

C) $45,000

D) $54,000

Level: Hard    LO:  2,4    Ans:  C
Use the following to answer 122-125

(Appendix) The changes in Templin Company’s balance sheet account balances for last year appear below:
[image: image66.png]Increases

(Decreases)
Debit balances
Cash 43,000
Accounts receivable $13,000
Inventory $(9,000)
Prepaid expenses $(2,000)
Long term investments $40,000
Plant and equipment $55,000
Credit balances
Accumulated depreciation $62,000
Accounts payable 45,000
Accrued liahilities $14,000
Taxes payable. $5,000
Bonds payable $(50,000)
Deferred taxes $(6,000)
Common stock $20,000

Retained earmings $47,000




The company’s income statement for the year appears below:
[image: image67.png]Sales $760,000

Less cost of goods sold 370,000
Gross margin 390,000
Less operating expenses 240,000
Net operating incorne. 150,000
Less income tases 45,000

MNet income §105.000




The company declared and paid $58,000 in cash dividends during the year. The company uses the direct method to determine the net cash provided by operating activities.
122. On the statement of cash flows, the sales revenue adjusted to a cash basis would be:

A) $738,000

B) $747,000

C) $760,000

D) $773,000

Level: Hard    LO:  2,4    Ans:  B
123. On the statement of cash flows, the cost of goods sold adjusted to a cash basis would be:

A) $384,000

B) $365,000

C) $356,000

D) $370,000

Level: Hard    LO:  2,4    Ans:  C
124. On the statement of cash flows, the operating expenses adjusted to a cash basis would be:

A) $240,000

B) $162,000

C) $318,000

D) $224,000

Level: Hard    LO:  2,4    Ans:  B
125. On the statement of cash flows, the income tax expense adjusted to a cash basis would be:

A) $47,000

B) $37,000

C) $43,000

D) $45,000

Level: Hard    LO:  2,4    Ans:  C
Use the following to answer 126-129

(Appendix) The changes in Tempski Company’s balance sheet account balances for last year appear below:
[image: image68.png]Debit balances
Cash
Accounts receivable
Inventory
Prepaid expenses
Long term investments
Plant and equipment

Credit balances
Accumuated depreciation
Accounts payable
“Accrued labilities
Tazes payable
Bonds payable
Deferred taxes
Common stock
Retained earnings

Increases
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$(5,000)
$(7,000)
$14,000
§(3,000)
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$35,000

$64,000
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$(10,000)
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$(30,000)
$(10,000)
$20,000
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The company’s income statement for the year appears below:
[image: image69.png]Sales $870,000

Less cost of goods sold 360,000
Gross margin 510,000
Less operating expenses 350,000
Net operating incorne. 160,000
Less income tases 43,000

MNet income §112.000




The company declared and paid $68,000 in cash dividends during the year. The company uses the direct method to determine the net cash provided by operating activities.
126. On the statement of cash flows, the sales revenue adjusted to a cash basis would be:

A) $877,000

B) $870,000

C) $863,000

D) $891,000

Level: Hard    LO:  2,4

Refer To: 13_14    Ans:  A
127. On the statement of cash flows, the cost of goods sold adjusted to a cash basis would be:

A) $358,000

B) $348,000

C) $362,000

D) $360,000

Level: Hard    LO:  2,4    Ans:  C
128. On the statement of cash flows, the operating expenses adjusted to a cash basis would be:

A) $288,000

B) $350,000

C) $412,000

D) $352,000

Level: Hard    LO:  2,4    Ans:  A
129. On the statement of cash flows, the income tax expense adjusted to a cash basis would be:

A) $48,000

B) $47,000

C) $39,000

D) $49,000

Level: Hard    LO:  2,4    Ans:  D
Use the following to answer 130-134

Hocking Corporation’s comparative balance sheet appears below:

[image: image70.png]Assets:
Current assets:
Cash and cash equivalents
Accounts receivable
Inventory
‘Total current assets
Property, plant, and equipment
Less accumulated depreciation
Net property, plant, and equipment
‘Total assets

Liabiliies and Stockholders” Equity
Current liabilities
Accounts payable
“Accrued wages and salaries payable
“Accrued income tases payable
Notes payable
Total current liabilities
Long-term debt.
Deferred income tastes
Total iabilities
Stockholders” equity
Common stock
Retained earnings
Total stockholders” equity
“Total iabilities and stockholders” equity

Ending
Balance

$49,000
22,000
75,000
146,000
357,000
160,000
157,000
§343.000

$13,000
33,000
23,000
28,000
97,000
80,000
27000
204,000

27,000
112,000
139,000

§343.000

Beginning
Balance

$26,000
26,000
72,000
124,000
339,000
137,000
202,000
§326.000

$10,000
29,000
20,000
24,000
83,000
82,000
28,000
193,000

30,000
103,000
133,000

§326.000




The company’s net income (loss) for the year was $10,000 and its cash dividends were $1,000.
130. Which of the following classifications of changes in balance sheet accounts as sources and uses is correct?

A) The change in Accounts Receivable is a use; The change in Inventory is a source

B) The change in Accounts Receivable is a source; The change in Inventory is a use

C) The change in Accounts Receivable is a source; The change in Inventory is a source

D) The change in Accounts Receivable is a use; The change in Inventory is a use

Level: Easy    LO:  1    Ans:  B
131. Which of the following classifications of changes in balance sheet accounts as sources and uses is correct?

A) The change in Accounts Payable is a source; The change in Accrued Wages and Salaries payable is a use

B) The change in Accounts Payable is a use; The change in Accrued Wages and Salaries payable is a source

C) The change in Accounts Payable is a use; The change in Accrued Wages and Salaries payable is a use

D) The change in Accounts Payable is a source; The change in Accrued Wages and Salaries payable is a source

Level: Easy    LO:  1    Ans:  D
132. Which of the following classifications of changes in balance sheet accounts as sources and uses is correct?

A) The change in Property, Plant, and Equipment is a source; The change in Long-Term Debt is a use

B) The change in Property, Plant, and Equipment is a use; The change in Long-Term Debt is a use

C) The change in Property, Plant, and Equipment is a use; The change in Long-Term Debt is a source

D) The change in Property, Plant, and Equipment is a source; The change in Long-Term Debt is a source

Level: Easy    LO:  1    Ans:  B
133. The total dollar amount of all of the items that would be classified as sources when compiling a simplified statement of cash flows is:

A) $51,000

B) $28,000

C) $23,000

D) $27,000

Level: Medium    LO:  1    Ans:  A
134. The total dollar amount of all of the items that would be classified as uses when compiling a simplified statement of cash flows is:

A) $23,000

B) $28,000

C) $27,000

D) $51,000

Level: Medium    LO:  1    Ans:  B
Use the following to answer 135-137

The most recent comparative balance sheet of Broekemeier Corporation appears below:

[image: image71.png]Assets:
Current assets:
Cash and cash equivalents
Accounts receivable
Inventory
‘Total current assets
Property, plant, and equipment
Less accumulated depreciation
Net property, plant, and equipment
‘Total assets

Liabiliies and Stockholders” Equity
Current liabilities
Accounts payable
“Accrued wages and salaries payable
“Accrued income tases payable
Notes payable
Total current liabilities
Long-term debt.
Deferred income tastes
Total iabilities
Stockholders” equity
Common stock
Retained earnings
Total stockholders” equity
“Total iabilities and stockholders” equity

Ending
Balance

$25,000
17,000
73,000
115,000
350,000
165,000
185,000
§300.000

$13,000
30,000
21,000
20,000
84,000
80,000
38,000
202,000

35,000
63,000
98,000

§300.000

Beginning
Balance

$27,000
19,000
71,000
117,000
328,000
137,000
191,000
§308.000

$15,000
33,000
24,000
23,000
95,000
81,000
42,000
218,000

38,000
52,000
50,000

§308.000




135. Which of the following classifications of changes in balance sheet accounts as sources and uses is correct?

A) The change in Accounts Receivable is a source; The change in Inventory is a source

B) The change in Accounts Receivable is a use; The change in Inventory is a source

C) The change in Accounts Receivable is a source; The change in Inventory is a use

D) The change in Accounts Receivable is a use; The change in Inventory is a use

Level: Easy    LO:  1    Ans:  C
136. Which of the following classifications of changes in balance sheet accounts as sources and uses is correct?

A) The change in Accounts Payable is a use; The change in Accrued Wages and Salaries payable is a use

B) The change in Accounts Payable is a use; The change in Accrued Wages and Salaries payable is a source

C) The change in Accounts Payable is a source; The change in Accrued Wages and Salaries payable is a source

D) The change in Accounts Payable is a source; The change in Accrued Wages and Salaries payable is a use

Level: Easy    LO:  1    Ans:  A
137. Which of the following classifications of changes in balance sheet accounts as sources and uses is correct?

A) The change in Property, Plant, and Equipment is a use; The change in Long-Term Debt is a source

B) The change in Property, Plant, and Equipment is a source; The change in Long-Term Debt is a use

C) The change in Property, Plant, and Equipment is a source; The change in Long-Term Debt is a source

D) The change in Property, Plant, and Equipment is a use; The change in Long-Term Debt is a use

Level: Easy    LO:  1    Ans:  D
Use the following to answer 138-139

Colosi Corporation’s comparative balance sheet appears below:
[image: image72.png]Assets:
Current assets:
Cash and cash equivalents
Accounts receivable
Inventory
‘Total current assets
Property, plant, and equipment
Less accumulated depreciation
Net property, plant, and equipment
‘Total assets

Liabiliies and Stockholders” Equity
Current liabilities
Accounts payable
“Accrued wages and salaries payable
“Accrued income tases payable
Notes payable
Total current liabilities
Long-term debt.
Deferred income tastes
Total iabilities
Stockholders” equity
Common stock
Retained earnings
Total stockholders” equity
“Total iabilities and stockholders” equity

Ending
Balance

$40,000
18,000
62,000
120,000
351,000
193,000
158,000
§278.000

$ 14,000
37,000
29,000
11,000
91,000
75,000
36,000

206,000

26,000
46,000
72,000

§278.000

Beginning
Balance

$31,000
19,000
65,000
115,000
333,000
170,000
163,000
§273.000

$12,000
35,000
27,000
15,000
89,000
77,000
39,000
205,000

29,000
44,000
73,000

§278.000




The company’s net income (loss) for the year was $3,000 and its cash dividends were $1,000.
138. The total dollar amount of all of the items that would be classified as sources when compiling a simplified statement of cash flows is:

A) $28,000

B) $29,000

C) $38,000

D) $9,000

Level: Medium    LO:  1    Ans:  C
139. The total dollar amount of all of the items that would be classified as uses when compiling a simplified statement of cash flows is:

A) $28,000

B) $29,000

C) $9,000

D) $38,000

Level: Medium    LO:  1    Ans:  B
Use the following to answer 140-142

Salsedo Corporation’s balance sheet and income statement appear below:

Comparative Balance Sheet
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Cash and cash equivalents
Accounts receivable
Inventory

Plant and cquipment

Accumuated depreciation
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Liabiliies and stockholders” equity
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Wages payable
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Income Statement
[image: image74.png]Sales.

Less cost of sales

Gross margin.

Less operating expenses

Net operating income.

Gain on sale of plant and equipment
Income before taxes.

Less income taxes.

Net income.

$634
400
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Y.

$49




Cash dividends were $9. The company sold equipment for $15 that was originally purchased for $10 and that had accumulated depreciation of $5.
140. The net cash provided by (used by) operations for the year was:

A) $60

B) $95

C) $94

D) $85

Level: Medium    LO:  2,3    Ans:  D
141. The net cash provided by (used by) investing activities for the year was:

A) ($81)

B) ($66)

C) $66

D) $15

Level: Medium    LO:  2,3    Ans:  B
142. The net cash provided by (used by) financing activities for the year was:

A) ($9)

B) ($15)

C) ($21)

D) $3

Level: Medium    LO:  2,3    Ans:  C
Use the following to answer 143-145

The most recent balance sheet and income statement of Penaloza Corporation appear below:

Comparative Balance Sheet
[image: image75.png]Assets:

Cash and cash equivalents
Accounts receivable
Inventory

Plant and cquipment
Accumulated depreciation
‘Total assets

Liabiliies and stockholders” equity
Accounts payable

Wages payable

Tazes payable

Bonds payable

Deferred taxes

Common stock

Retained earnings

Total iabilities and stockholders” equity

Ending
Balance

$47
43
36
474
@50
$356

$36
il
17
88
19
45
124

Beginming
Balance

$39
55
39
370
(@13)
$285

$35
2
20
80
2]
40
61





Income Statement
[image: image76.png]Sales

Less cost of sales

Gross margin

Less operating expenses
Net operating incorne.
Less income tases

Net income

$773
468
305
189
116
35
18l




Cash dividends were $18.
143. The net cash provided by (used by) operations for the year was:

A) $117

B) $45

C) $36

D) $116

Level: Medium    LO:  2,3    Ans:  A
144. The net cash provided by (used by) investing activities for the year was:

A) $72

B) $104

C) ($104)

D) ($72)

Level: Medium    LO:  2,3    Ans:  C
145. The net cash provided by (used by) financing activities for the year was:

A) ($18)

B) $5

C) ($5)

D) $8

Level: Medium    LO:  2,3    Ans:  C
Use the following to answer 146-148

Alcoser Corporation’s most recent balance sheet appears below:

Comparative Balance Sheet
[image: image77.png]Assets:

Cash and cash equivalents
Accounts receivable
Inventory

Plant and cquipment
Accumulated depreciation
‘Total assets

Liabiliies and stockholders” equity
Accounts payable

Wages payable

Tazes payable

Bonds payable

Deferred taxes

Common stock

Retained earnings

Total iabilities and stockholders” equity

Ending
Balance

$34
32
53
554
(208)
465

$41
17
16
217
12
7
87

65

Beginming
Balance

$29
36
66
430
(206)
405

$50
16
14
200
16
70
3
s




Net income for the year was $60. Cash dividends were $12.
146. The net cash provided by (used by) operations for the year was:

A) $51

B) $69

C) $9

D) $86

Level: Easy    LO:  2,3    Ans:  B
147. The net cash provided by (used by) investing activities for the year was:

A) $74

B) ($74)

C) ($72)

D) $72

Level: Easy    LO:  2,3    Ans:  B
148. The net cash provided by (used by) financing activities for the year was:

A) $10

B) $5

C) ($12)

D) $17

Level: Easy    LO:  2,3    Ans:  A
Use the following to answer 149-151

Financial statements of Rukavina Corporation follow:

Comparative Balance Sheet
[image: image78.png]Assets:

Cash and cash equivalents
Accounts receivable
Inventory

Plant and cquipment
Accumulated depreciation
‘Total assets

Liabiliies and stockholders” equity
Accounts payable

Long-term debt.

Common stock

Retained earnings

Total iabilities and stockholders” equity

Ending
Balance

$36
3
34
386
(202
$293

371
176
81
(5
$293

Beginning
Balance

38
44
35

360
151
$286

$61
220
80
05
$286




Income Statement
[image: image79.png]Sales

Less cost of sales

Gross margin

Less operating expenses
Net operating incorne.
Less income tases

Net income

3518
336

152
13

HEE}




Cash dividends were $8.
149. The net cash provided by (used by) operations for the year was:

A) $21

B) $75

C) $27

D) $69

Level: Easy    LO:  2,3    Ans:  B
150. The net cash provided by (used by) investing activities for the year was:

A) $26

B) $15

C) ($26)

D) ($15)

Level: Easy    LO:  2,3    Ans:  C
151. The net cash provided by (used by) financing activities for the year was:

A) ($8)

B) ($44)

C) ($51)

D) $1

Level: Easy    LO:  2,3    Ans:  C
Use the following to answer 152-154

Buckley Corporation’s most recent comparative balance sheet appears below:

Comparative Balance Sheet
[image: image80.png]Assets:

Cash and cash equivalents
Accounts receivable
Inventory

Plant and cquipment
Accumulated depreciation
‘Total assets

Liabiliies and stockholders” equity
Accounts payable

Long-term debt.

Common stock

Retained earnings

Total iabilities and stockholders” equity

Ending
Balance

319
2%
56

636

@30
357

$30
4
54
230
$357

Beginning
Balance

$20
7
51
550
(363)
$285

§3
40
50

161

$285




Net income for the year was $91. Cash dividends were $22.
152. The net cash provided by (used by) operations for the year was:

A) $32

B) $59

C) $130

D) $150

Level: Easy    LO:  2,3    Ans:  D
153. The net cash provided by (used by) investing activities for the year was:

A) ($69)

B) $69

C) $136

D) ($136)

Level: Easy    LO:  2,3    Ans:  D
154. The net cash provided by (used by) financing activities for the year was:

A) ($22)

B) $3

C) $4

D) ($15)

Level: Easy    LO:  2,3    Ans:  D
Use the following to answer 155-157

(Appendix) Kilduff Corporation’s balance sheet and income statement appear below:

Comparative Balance Sheet
[image: image81.png]Assets:

Cash and cash equivalents
Accounts receivable
Inventory

Plant and cquipment
Accumulated depreciation
‘Total assets

Liabiliies and stockholders” equity
Accounts payable

Wages payable

Tazes payable

Bonds payable

Deferred taxes

Common stock

Retained earnings

Total iabilities and stockholders” equity

Ending
Balance

$36
36
49
707
(16
512

$71

512

Beginning
Balance

$38
32
55
580
G15)
$390

§ 64
15
19
100
2
30

£330




Income Statement
[image: image82.png]Sales $1,174

Less cost of sales 771
Gross margin 403
Less operating expenses 146
Net operating income. 57
Gain on sale of plant and equipment 14
Income before taxes. 271
Less income tases, 81

MNet income [T}




Cash dividends were $44. The company sold equipment for $19 that was originally purchased for $10 and that had accumulated depreciation of $5.
155. The net cash provided by (used by) operations for the year was:

A) $187

B) $231

C) $257

D) $201

Level: Medium    LO:  2,4    Ans:  A
156. The net cash provided by (used by) investing activities for the year was:

A) $19

B) ($118)

C) ($137)

D) $118

Level: Medium    LO:  2,4    Ans:  B
157. The net cash provided by (used by) financing activities for the year was:

A) ($44)

B) ($71)

C) $2

D) ($29)

Level: Medium    LO:  2,4    Ans:  B
Use the following to answer 158-160

(Appendix) The most recent balance sheet and income statement of Oldaker Corporation appear below:

Comparative Balance Sheet
[image: image83.png]Assets:

Cash and cash equivalents
Accounts receivable
Inventory

Plant and cquipment
Accumulated depreciation
‘Total assets

Liabiliies and stockholders” equity
Accounts payable

Wages payable

Tazes payable

Bonds payable

Deferred taxes

Common stock

Retained earnings

Total iabilities and stockholders” equity

Ending
Balance

31
7
44

728

(@53)

8623

$56
2

121

623

Begjming
Bakance

$29
ki)
45
530
(242)
5010

$63
2
8
110
20
30

501




Income Statement
[image: image84.png]Sales

Less cost of sales

Gross margin

Less operating expenses
Net operating incorne.
Less income tases

Net income

$921
575
346
117
225
69

160




Cash dividends were $42.
158. The net cash provided by (used by) operations for the year was:

A) $168

B) $8

C) $152

D) $229

Level: Medium    LO:  2,4    Ans:  A
159. The net cash provided by (used by) investing activities for the year was:

A) ($127)

B) ($138)

C) $138

D) $127

Level: Medium    LO:  2,4    Ans:  B
160. The net cash provided by (used by) financing activities for the year was:

A) ($42)

B) $3

C) $11

D) ($28)

Level: Medium    LO:  2,4    Ans:  D
Use the following to answer 161-163

(Appendix) Shimko Corporation’s most recent comparative balance sheet and income statement appear below:

Comparative Balance Sheet
[image: image85.png]Assets:

Cash and cash equivalents
Accounts receivable
Inventory

Plant and cquipment
Accumulated depreciation
‘Total assets

Liabiliies and stockholders” equity
Accounts payable

Long-term debt.

Common stock

Retained earnings

Total iabilities and stockholders” equity

Ending
Balance

$37
E2)
59
447
@z
$365

$37
217
21
]|
65

Beginming
Balance

$32
32
55
390
188
$321

$32
7
20
_O
8321




Income Statement
[image: image86.png]Sales

Less cost of sales

Gross margin

Less operating expenses
Net operating incorne.
Less income tases

Net income

$891
i)
352
195
157
47

10




Cash dividends were $19.
161. The net cash provided by (used by) operations for the year was:

A) $23

B) $133

C) $157

D) $87

Level: Easy    LO:  2,4    Ans:  B
162. The net cash provided by (used by) investing activities for the year was:

A) $57

B) ($57)

C) $33

D) ($33)

Level: Easy    LO:  2,4    Ans:  B
163. The net cash provided by (used by) financing activities for the year was:

A) ($19)

B) ($53)

C) $1

D) ($71)

Level: Easy    LO:  2,4    Ans:  D
Essay
164. Alegre Retail Corporation’s most recent comparative Balance Sheet is as follows:

[image: image87.png]Assets

Cash.

Accounts receivable, net
Merchandise inventory
Long-term investments
Equipment,

Accumulated depreciation
‘Total assets

Liabilites and Stockholders” Bquity
Accounts payable

Tazes payable

Notes payable

Common stock

Retained earnings

Total iabilities and stockholders” equity

Ending

$7,000
11,000
39,000
23,000
83,000

(66,000

Beginning

$12,000
2,000
24,000
5,000
100,000
(62,000





Alegre’s net income was $34,000. No direct exchange transactions occurred at Alegre during the year. No equipment was purchased. There was a gain of $3,000 when equipment was sold. The accumulated depreciation on the equipment sold was $12,000. Cash dividends of $20,000 were declared and paid during the year. Alegre uses the indirect method to prepare its statement of cash flows.

Required:

Prepare Alegre’s statement of cash flows.

Level: Medium    LO:  2,3

Ans:
[image: image88.png]Operating activities:
Net income.
Adjustments
Increase in accounts receivable
Increase in merchandise inventory
Depreciation (44,000 + $12,000)
Decrease in accounts payable
Decrease in taxes payable.
Gain on sale
Net cash provided by operating activities
Investing activities
Increase in investments
Sale of equipment ($17,000 + $3,000 - §12,000)
Net cash used in investing activities
Financing activities
Increase in notes payable
Increase in common stock
Dividends paid
Net cash used in financing activities
Decrease in cash
Cash, beginning
Cash, ending

$(9,000)
(15,000)
16,000
(19,000)
(1000)
(000

(14,000)
8,000

6,000
12,000

(20,000

$34,000

(3L000)
3,000

(6000)

000
(5,000
12,000

17000




165. Burns Company’s net income last year was $91,000. Changes in the company’s balance sheet accounts for the year appear below:
[image: image89.png]Debit balances

Cash

Accounts receivable
Inventory

Prepaid expenses
Long term investments
Plant and equipment

Credit balances.
Accumulated depreciation
Accounts payable
“Accrued labilities

Tazes payable

Bonds payable

Deferred taxes

Common stock

Retained earnings

Increases
(Decreases)

$19,000
$13,000
$(16,000)
$4,000
$10,000
§70,000

$31,000
$(13,000)
$16,000
$(4,000)
$(60,000)
43,000
$40,000
$87,000




The company declared and paid cash dividends of $4,000 last year.

Required:

(a.) Construct in good form the operating activities section of the company’s statement of cash flows for the year. (Use the indirect method.)

(b.) Construct in good form the investing activities section of the company’s statement of cash flows for the year.

(c.) Construct in good form the financing activities section of the company’s statement of cash flows for the year.

Level: Medium    LO:  2,3

Ans:
[image: image90.png]a

Operating activities.

Net income

Adjustments:
Depreciation charges.
Increase in accounts receivable
Decrease in inventory.
Increase in prepaid expenses
Decrease in accounts payable
Increase in accrued Habilities
Decrease in taxes payable
Increase in deferred tases.

Net cash provided by operating activities

Investing activiies
Increase in longterm investments
Increase in plant & equipment
Net cash used for investing activities

Financing activities.
Decrease in bonds payable
Increase in common stock.
Cash dividends

Net cash used in financing activities

$91,000
$31,000
(13,000)
16,000
@000
(13,000)
16,000
@000

5,000 32,000

123,000

$(10,000)

(70,000)

§(30.000)

$(60,000)

40,000

(4,000)

$a00D




166. Burtch Company’s net income last year was $112,000. Changes in the company’s balance sheet accounts for the year appear below:
[image: image91.png]Debit balances

Cash

Accounts receivable
Inventory

Prepaid expenses
Long term investments
Plant and equipment

Credit balances.
Accumulated depreciation
Accounts payable
“Accrued labilities

Tazes payable

Bonds payable

Deferred taxes

Common stock

Retained earnings

Increases
(Decreases)

$(14,000)
$(9,000)
$16,000
§(3,000)
$40,000
$30,000

$36,000
$13,000
$(5,000)
43,000
$(40,000)
$3,000
$20,000
$15,000




The company declared and paid cash dividends of $97,000 last year.

Required:

(a.) Construct in good form the operating activities section of the company’s statement of cash flows for the year. (Use the indirect method.)

(b.) Construct in good form the investing activities section of the company’s statement of cash flows for the year.

(c.) Construct in good form the financing activities section of the company’s statement of cash flows for the year.

Level: Medium    LO:  2,3

Ans:
[image: image92.png]a

Operating activities

Net income

Adjustments:
Depreciation charges.
Decrease in accounts receivable
Increase in inventory
Decrease in prepaid expenses.
Increase in accounts payable
Decrease in accrued iabilities
Increase in tases payable
Increase in deferred tases.

Net cash provided by operating activities

Investing activiies

Increase in long-term investments
Increase in plant & equipment

Net cash used for investing activities

Financing activities.

Decrease in bonds payable

Increase in common stock.

Cash dividends

Net cash used in financing activities

$36,000
9,000
(16,000)
5,000
18,000
(000
3,000
5,000

$112,000

61,000
$173.000

$(40,000)
(30,000)
§(70000)

§ (40,000)
20,000
(97,000)
$(117.000)




167. The following information was collected from the most recent Income Statement and comparative Balance Sheet of Dolor Corporation:

[image: image93.png]Increase in cash

Decrease in accounts receivable
Increase in merchandise inventory
Decrease in prepaid rent.

Increase in equipment

Increase in accumulated depreciation
Decrease in accounts payable
Increase in salaries payable
Increase in interest payable
Decrease in deferred income faxes
Increase in notes payable

$36,000
$17,000
$44,000
$3,000
$56,000
$18,000
$25,000
$2,000
$1,000
$4,000
$12,000




Dolor’s net income for the year was $167,000. No direct exchange transactions occurred at Dolor during the year. No equipment was sold during the year. Cash dividends of $30,000 were declared and paid during the year. Dolor uses the indirect method to prepare its statement of cash flows.

Required:

Prepare Dolor’s operating activities section of its statement of cash flows.

Level: Medium    LO:  2,3

Ans:
[image: image94.png]Net income.

Adjustments:
Decrease in accounts rfceivable
Increase in merchandise inventory
Decrease in prepaid rent.
Depreciation charges.
Decrease in accounts payable
Increase in salaries payable
Increase in interest payable
Decrease in deferred tax.

Net cash provided by operations

$167,000




168. Comparative balance sheets and the income statements for Ellis Company are presented below:
[image: image95.png]Ellis Company
Belance Sheets
Decenber 31, Year | and Vear2

Assets
Cusent assets.

Cash

Accounts receivable

Inventory.
Total current asses.
Longterm investments
Plant and equipment,
Accumulated depreciation.
Total assls.

Lisbilifies and stockholders” eqity
Cusrent ligbilities:
Accounts payable.
Acorued lisbilities
Total current lisbilities.
Bonds payable
Mortgage paysble
Defersed income taxes.
Total lisbitities
Stackholders’ equily:
Common stack.
Retained eamings
Total stockholders’ equily.
Total lisbitities and stockholders” equity

Tear 2

$ 45,000
8,000
67000
150,00
162,000

78000
(52.000)

$533.000

$ 36,000
24000
60,000
0,000
100,000
15.000
195,000

295,000
43,000
343,000

$533.000

Tear ]

$ 30,000
0,000
60000
130,000

20,000
150,000
(50.000)

$430.000

$ 40,000
0,000
70,000
0,000

20,000
120,000

270,000
40,000
310,000

$430.000




[image: image96.png]Ellis Company
Income Statement
For the Year Ended December 31, Year 2

Sales $150,000
Less cost of goods sold 76,500
Gross margin 73,500
Less operating expenses 16,000
Net operating incorne. 57,500
Less loss on sale of investment 2,500
Income before taxes 55,000
Less income tases 22,000

MNet income §33000




Summary of transactions for Year2:

* During Year 2, the company sold for cash of $35,500 long-term investments with a cost of $38,000 when purchased.

* All sales were on credit.

* The company paid a cash dividend of $25,000.

* Bonds payable of $25,000 were retired by issuing common stock. The bonds retired were equivalent to the market value of the $25,000 stock issued.

* An addition to one of the company’s buildings was completed on December 31, Year 2, at a cost of $128,000. The company gave an interest-bearing mortgage for $100,000 and paid $28,000 in cash.

* Bonds payable were sold for $15,000 cash at par value.

Required:

(a.) Using the indirect method, determine the net cash provided by operating activities for Year 2.

(b.) Using the direct method, determine the net cash provided by operating activities for Year 2.

(c.) Using the net cash provided by operating activities figure from either part a or b, prepare a statement of cash flows for Year 2.

Level: Hard    LO:  2,3

Ans:
[image: image97.png]Ellis Company
Statement of Cash Flows
For the Year Ended Decerber 31, Year 2

Operating activities.
Net income
Adjustments to convert to cash basis
Depreciation charges
Decrease in accounts receivable
Increase in inventories
Decrease in accounts payable
Decrease in accrued labilites
Loss on sale of investmens
Decrease in deferred income faxes,
Net cash provided by operating activities

2,000
2,000
(@000
@000
(6.000)
2,500
(.000)

$33,000

(16,000





[image: image98.png]Elis Company
Statement of Cash Flows
For the Year Ended Decerber 31, Year 2

Sales revenue (as reported)
Adjustments to cash basis
Decrease in accounts receivable

Cost of gaods sold (as reparted).

Adjustments fo cash basis
Increase in inventory
Decrease in accounts payable

Operating expenses (as reported).

Adjustments to cash basis
Decrease in acerued liabilites
Depreciation for the period

Income tax expense (as reported)
Adjustments to cash basis

Decrease in deferred tases
Net cash provided by operating activities

$150,000
2000 | $152,000
76,500

7000
4000 | (87,500

16,000

6,000
(2000) | (20,000)

22,000

5,000 (27000)
§17.500





[image: image99.png]Elis Company
Statement of Cash Flows

For the Year Ended December 31, Year 2

Net cash provided by operating activities”
Investing activities
Sale of longterm investment
Additions to plant and equipment
Net cash provided by investing acivities
Financing activities.
Increase in bonds payable
Increase in mortgage payable
Pay dividends to sharcholders
Net cash provided by financing activities
Net increase in cash.
Cash, December 31, Year 1
Cash, December 31, Year 2

$ 35500
(128,000

15,000
100,000

(25,000)

$17,500

(92,500)

i

45,00





*From parts (a) or (b) above.
169. (Appendix) Hesselbaum Retail Corporation’s most recent Income Statement and comparative Balance Sheet is as follows:

[image: image100.png]Hesselbaum Retail Corporation
Income Statement
For the Year Ended December 31, Year 2

Sales.

Less cost of goods sold

Gross margin.

Less operating expenses

Net operating income.

Less loss on sale of equipment.
Income before tases.

Less income taxes.

Net income.

$118,000
56,000
62,000
37000
25,000

2,000

23,000

5,000

§14000




[image: image101.png]Hesselbaum Retail Corporation
Cormparative Balance Sheet
At December 31, Year 2, and Year |

Assets
Cash.
Accounts receivable, net
Merchandise inventory
Prepaid expenses
Equipment.
Accumulated depreciation
‘Total assets

Liabifies and stockholders” equity
Accounts payable

Wages payable

Tazes payable.

Common stock

Retained earnings

Total iabilities and stockholders” equity

Year2

$12,000
29,000
36,000
6,000
72,000
(60,000

Year 1

$4,000
7,000
21,000





No direct exchange transactions occurred at Hesselbaum during Year 2. No equipment was purchased during Year 2. The accumulated depreciation on the equipment sold was $9,000. Cash dividends of $10,000 were declared and paid during Year 2. Hesselbaum uses the direct method to prepare its statement of cash flows.

Required:

Prepare Hesselbaum’s operating activities section of its Year 2 statement of cash flows.

Level: Hard    LO:  2,4

Ans:
[image: image102.png]Sales revemue (as reported).
Increase in accounts receivable

Cost of gaods sold (as reported).
Increase in merchandise inventory
Increase in accounts payable

Operating expenses (as reported)
Decrease in prepaid expenses
Increase in wages payable
Depreciation charges.

Income taes (as reported)
Decrease i taxes payable

Net cash provided by operating activities

$118,000

2,000

56,000
+15,000

8,000

37,000
— 2,000
— 5,000

12,000

5,000
+_ 1,000

$96,000

63,000

18,000

%




170. (Appendix) Carr Company’s comparative balance sheet and income statement for last year appear below:

[image: image103.png]Statement of Financial Position

Cash.

Accounts receivable
Inventory

Prepaid expenses
Long-term investments
Plant and equipment
Accumulated depreciation
‘Total assets

Accounts payable
“Accrued labilities

Tazes payable

Bonds payable

Deferred taxes

Common stock

Retained earnings

Total iabilities and owners” equity

Ending
Balance
§ 3,000

83,000

39,000

9,000
241,000
515,000
(320,000)
$569.000

$ 9,000
24,000
16,000

160,000
33,000
170,000
157000

$569.000

Beginning
Balance
§ 23,000

71,000
47,000
15,000
200,000
480,000
(295,000)
$541000

$ 25,000
17,000
21,000

200,000
25,000
140,000
113,000
$541.000




[image: image104.png]Income Statement

Sales.

Less cost of goods sold
Gross margin.

Less operating expenses
Net operating income.
Less income taxes.

Net income.

$850,000
450,000
400,000
270,000
130,000
39,000
$9L000





The company declared and paid $47,000 in cash dividends during the year.

Required:

Construct in good form the operating activities section of the company’s statement of cash flows for the year using the direct method.

Level: Hard    LO:  2,4

Ans:
[image: image105.png]Sales (as reported)
Adjustments to a cash basis.
Increase in accounts receivable

Cost of gaods sold (as reported).

Adjustments to a cash basis.
Decrease in inventory
Decrease in accounts payable

Operating expenses (as reparted)

Adjustments to a cash basis.
Decrease in prepaid expenses
Increase in acerued labilities
Depreciation charges.

Income tax expense (as reported)

Adjustments to a cash basis.
Decrease i faxes payable
Increase in deferred taxes

Net cash provided by operating activities

$850,000
12,000
450,000

8,000
+16,000

270,000
6,000
7,000

5,000
39,000

+5,000

8,000

$838,000

458,000

232,000

36,000

$112.000




171. (Appendix) Carmel Company’s comparative balance sheet and income statement for last year appear below:

[image: image106.png]Statement of Financial Position

Cash.

Accounts receivable
Inventory

Prepaid expenses
Long-term investments
Plant and equipment
Accumulated depreciation
‘Total assets

Accounts payable
“Accrued labilities

Tazes payable

Bonds payable

Deferred taxes

Common stock

Retained earnings

Total iabilities and owners” equity

Ending
Balance
§ 43,000

23,000

3,000

13,000
260,000
520,000
(256,000)
$672.000

$ 20,000
30,000
15,000

100,000
23,000
100,000
384,000
$672.000

Beginning
Balance
§ 30,000

30,000
49,000
13,000
200,000
500,000
(224,000)
$604.000

$ 35000
17,000
11,000

150,000
16,000
70,000

305,000

$604.000




[image: image107.png]Income Statement

Sales.

Less cost of goods sold
Gross margin.

Less operating expenses
Net operating income.
Less income taxes.

Net income.

$810,000
390,000
420,000
290,000
130,000
39,000
$91000




The company declared and paid $12,000 in cash dividends during the year.

Required:

Construct in good form the operating activities section of the company’s statement of cash flows for the year using the direct method.

Level: Hard    LO:  2,4

Ans:
[image: image108.png]Sales.
Adjustments to a cash basis.
Decrease in accounts receivable

Cost of goods sold

Adjustments to a cash basis.
Increase in inventory.
Decrease in accounts payable

Operating expenses.

Adjustments to a cash basis
Decrease in prepaid expenses
Increase in accrued Habilities
Depresiation charges.

Income tax expense
Adjustments to a cash basis.
Increase in taes payable
Increase in deferred taxes

Net cash provided by operating activities

$810,000
+7,000
390,000

+14,000
+15,000

290,000
6,000
—13,000
2,000

39,000

4,000
—7,000

$817,000

419,000

239,000

28,000

$131.000




172. (Appendix) The following information is taken from the Operating Activities section of the statement of cash flows for the Parks Company for the year just ended:

[image: image109.png]Net income.

Adjustments to convert net income to cash basis.
“Accounts receivable

Gain on sale of equipment

Inventory

Accounts payable

Depreciation expense.

Interest payable

Prepaid expenses

Income fax payable

Net cash inflow from operating activities

$3,000
(G000
(@000
4,000
11,000
(L000)
2,000
@000

$15,000

2,000

§17.000





The following information is taken from the company’s income statement for the year just ended:

[image: image110.png]Sales.

Cost of goods sold

Gross margin.

Operating Expenses

Net operating income.
Gain on sale of equipment.
Income before taxes.
Income taxes.

Net income.

$96,000
42,000
54,000
295,000
25,000
3,000
28,000
13,000
§15.000





Required:

(a.) For each of the adjustments to convert net income to the cash basis, indicate whether the account increased or decreased.

(b.) Determine the net cash provided by operating activities using the direct method. You need not prepare the formal operating activities section of the statement of cash flows but you should show the adjustments that must be made to sales, expenses, and so forth and the cash flow balances of sales, expenses, etc.

Level: Medium    LO:  2,4

Ans:
[image: image111.png]a

Accounts receivable
Gain on sale of equipment
Inventory

Accounts payable
Depreciation expense
Interest payable

Prepaid expenses.

Income tax payable

decrease
increase
increase
increase
increase
decrease
decrease
decrease




[image: image112.png]Sales revenue (as reported)
Decrease in accounts receivable

Cost of gaods sold (as reparted).
Increase in inventory
Increase in accounts payable

Operating expenses (as reported)
Decrease in interest payable
Decrease in prepaid expenses.
Depreciation expense

Income tax expense (as reported)
Decrease in income tax payable

Net cash provided by operating activities

$96,000
+3,000

42,000
+7,000
4,000

29,000
+1,000
2,000

11,000

13,000
+7,000

$99,000

45,000

17,000




173. NOTES TO THE INSTRUCTOR:
* The problem requirement does not indicate whether the indirect or direct method must be used to determine the net cash provided by operating activities. You can, if you choose, specify that either (or even both) methods be used. The solution contains solutions for both methods.
* Due to the length of the problem, you may want to eliminate one or more of the requirements.

---------------------------------------------------------------------

Daugherty Company’s comparative balance sheet and income statement for last year appear below:

[image: image113.png]Statement of Financial Position

Cash.

Accounts receivable
Inventory

Prepaid expenses
Long-term investments
Plant and equipment
Accumulated depreciation
‘Total assets

Accounts payable
“Accrued labilities

Tazes payable

Bonds payable

Deferred taxes

Common stock

Retained earnings

Total iabilities and owners” equity

Ending
Balance
§ 7,000
71,000
62,000
2,000
310,000
370,000
(214,000)
$608.000
§ 49,000
2,000
28,000
140,000
27,000
90,000
252,000
$608.000

Beginning
Balance
§ 21,000

47,000
44,000
9,000
240,000
370,000
(186,000)
$545.000

$ 48,000
17,000
13,000

170,000
17,000
70,000

210,000

$545.000




[image: image114.png]Income Statement

Sales.

Less cost of goods sold
Gross margin.

Less operating expenses
Net operating income.
Less income taxes.

Net income.

$940,000
510,000
430,000
270,000
160,000
48,000
$112.000




The company declared and paid $70,000 in cash dividends during the year.

Required:

(a.) Construct in good form the operating activities section of the company’s statement of cash flows for the year.

(b.) Construct in good form the investing activities section of the company’s statement of cash flows for the year.

(c.) Construct in good form the financing activities section of the company’s statement of cash flows for the year.

Level: Hard    LO:  2

Ans:

(a.) Operating activities

[image: image115.png]INDIRECT METHOD

Net income

Adjustments:

Depreciation charges

Increase in accounts receivable
Increase in inventory

Decrease in prepaid expenses
Increase in accounts payable
Decrease in accrued iabilities
Increase in tases payable.
Increase in deferred tases.

Net cash provided by operating activities

$112,000
§ 2,000
(24,000)
(13,000)
7000
21,000
(15,000)
15,000

10,000 | 24,000

1036000




[image: image116.png]DIRECT METHOD

Sales.
Adjustments to a cash basis.
Increase in accounts receivable

Cost of goods sold

Adjustments to a cash basis.
Increase in inventory
Increase in accounts payable

Operating expenses.

Adjustments to a cash basis
Decrease in prepaid expenses
Decrease in accrued iabilities
Depresiation charges

Income tax expense.
Adjustments to a cash basis.
Increase in tazes payable
Increase in deferred taxes

Net cash provided by operating activities

$940,000
—34,000
510,000

+18,000

1,000

270,000

7,000
+15,000
5,000

48,000

15,000
10,000

$916,000

507,000

250,000

23,000

$136.000




[image: image117.png]Investing activities:
Increase in long-term investments
Net cash used for investing activities

Financing activities.
Decrease in bonds payable

Increase in common stock.

Cash dividends

Net cash used in financing activities

$(70,000)
$(70.000)

$(30,000)
20,000
(70,000)
$30.000)




174. NOTES TO THE INSTRUCTOR:
* The problem requirement does not indicate whether the indirect or direct method must be used to determine the net cash provided by operating activities. You can, if you choose, specify that either (or even both) methods be used. The solution contains solutions for both methods.
* Due to the length of the problem, you may want to eliminate one or more of the requirements.

---------------------------------------------------------------------

Dawson Company’s comparative balance sheet and income statement for last year appear below:

[image: image118.png]Statement of Financial Position

Cash.

Accounts receivable
Inventory

Prepaid expenses
Long-term investments
Plant and equipment
Accumulated depreciation
‘Total assets

Accounts payable

“Accrued labilities

Tazes payable

Bonds payable

Deferred taxes

Common stock

Retained earnings

Total iabilities and owners” equity

Ending
Balance
§ 43,000
50,000
2,000
17,000
240,000
430,000
(277,000)
$593.000

$ 43,000
33,000
37,000

110,000
31,000
70,000

269,000

$593.000

Beginning
Balance
§ 22,000
71,000
52,000
13,000
180,000
430,000
(237.000)
$531000
§ 41,000
13,000
25,000
160,000
13,000
50,000
197,000
$53L000




[image: image119.png]Income Statement

Sales.

Less cost of goods sold
Gross margin.

Less operating expenses
Net operating income.
Less income taxes.

Net income.

$680,000
300,000
380,000
250,000
130,000
39,000
$91000




The company declared and paid $19,000 in cash dividends during the year.

Required:

(a.) Construct in good form the operating activities section of the company’s statement of cash flows for the year.

(b.) Construct in good form the investing activities section of the company’s statement of cash flows for the year.

(c.) Construct in good form the financing activities section of the company’s statement of cash flows for the year.

Level: Hard    LO:  2

Ans:

(a.) Operating activities

[image: image120.png]INDIRECT METHOD

Net income

Adjustments:
Depreciation charges
Decrease in accounts receivable
Increase in inventory
Increase in prepaid expenses
Decrease in accounts payable
Increase in accrued Habilities
Increase in tases payable.
Increase in deferred tases.

Net cash provided by operating activities

$91,000
$40,000
21,000
(32,000)
@000
(13,000)
14,000
12,000

12,000 45000

1136000




DIRECT METHOD

[image: image121.png]Sales.
Adjustments to a cash basis.
Decrease in accounts receivable

Cost of goods sold

Adjustments to a cash basis.
Increase in inventory
Decrease in accounts payable

Operating expenses.

Adjustments to a cash basis
Increase in prepaid expenses
Increase in accrued Habilities
Depresiation charges

Income tax expense.
Adjustments to a cash basis.
Increase in tazes payable
Increase in deferred taxes

Net cash provided by operating activities

$680,000
+31,000
300,000

+32,000
+18,000

250,000
+4,000
14,000
40,000
39,000

—12,000
12,000

$701,000

350,000

200,000

15,000

$136.000




[image: image122.png]Investing activities:
Increase in long-term investments
Net cash used for investing activities

Financing activities.
Decrease in bonds payable

Increase in common stock.

Cash dividends

Net cash used in financing activities

$(60,000)
$(60.000)

$(50,000)
20,000
(19,000)
§(3.000)




175. Hanners Corporation’s comparative balance sheet appears below:

[image: image123.png]Assets:
Current assets:
Cash and cash equivalents
Accounts receivable
Inventory
‘Total current assets
Property, plant, and equipment
Less accumulated depreciation
Net property, plant, and equipment
‘Total assets

Liabiliies and Stockholders” Equity
Current liabilities
Accounts payable
Wages and salaries payable
Income tazes payable
Notes payable
Total current liabilities
Long-term debt.
Deferred income tastes
Total iabilities
Stockholders” equity
Common stock
Retained earnings
Total stockholders” equity
“Total iabilities and stockholders” equity

Ending
Balance

$51,000
21,000
66,000
133,000
327,000
175,000
152,000
§290.000

$13,000
30,000
28,000
10,000
81,000
81,000
37,000
199,000

36,000
55,000
51,000

§290.000

Beginning
Balance

$30,000
23,000
68,000
121,000
307,000
150,000
157,000
§278.000

$12,000
34,000
30,000
7000
83,000
84,000
35,000
202,000

32,000
44,000
76,000

§278.000




The company’s net income (loss) for the year was $13,000 and its cash dividends were $2,000.

Required:

Classify the change for the year in each balance sheet account as a source, use, or neither a source nor a use. (Do this only for the individual accounts-not for totals or subtotals.)

Level: Easy    LO:  1

Ans:
[image: image124.png]Cash and cash equivalents
Accounts receivable

Inventory

Property, plant, and equipment
Less accumulated depreciation

Accounts payable
Wages and salaries payable
Income tazes payable
Notes payable

Long-term debt.

Deferred income tastes
Common stock

Retained earnings

Ending
Balance
51,000
21,000
6,000
327,000
175,000

13,000
30,000
28,000
10,000
81,000
37,000
36,000
55,000

Beginning
Balance
30,000
23,000
8,000
307,000
150,000

12,000
34,000
30,000

7,000
84,000
35,000
32,000
44,000

Change
+21,000
2,000
2,000
+20,000
+25,000

+1,000
4,000
2,000
+3,000
3,000
+2,000
+4,000
+11,000

Meither
Source
Source
Use
Source

Source
Use
Use
Source
Use
Source
Source




*The change in retained earnings consists of two elements: net income (loss) and dividends. The net income of $13,000 is classified as a source and the dividends of $2,000 are classified as a use.
176. The ending and beginning balances of Parmele Corporation’s balance sheet accounts for the most recent year are listed below:

[image: image125.png]Ending Balance | Beginming Balance
Assets & Contra-Assets

Cash and cash equivalents $51,000 $32,000
Accounts receivable $23,000 $20,000
Inventory $62,000 $59,000
Property and buildings $422,000 $398,000
Accumulated depreciation $197,000 $167,000
Liabilities and Stockholders” Equity

Accounts payable $16,000 $12,000
Wages and salaries payable $33,000 $29,000
Income taxes payable $23,000 $20,000
MNotes payable $24,000 $25,000
Long-term debt $77,000 §75,000
Deferred income taxes $39,000 $33,000
Cormmon stock $25,000 $23,000

Retained earnings $124,000 $120,000




The company’s net income (loss) for the year was $8,000 and its cash dividends were $4,000.

Required:

Classify the change for the year in each balance sheet account as a source, use, or neither a source nor a use.

Level: Easy    LO:  1

Ans:
[image: image126.png]Cash and cash equivalents
Accounts receivable
Inventory

Property and buildings
Accumulated depreciation

Accounts payable
Wages and salaries payable
Income tazes payable
Notes payable

Long-term debt.

Deferred income tastes
Common stock

Retained earnings

Ending
Balance
51,000
23,000
62,000
422,000
157,000

16,000
33,000
23,000
24,000
77,000
39,000
25,000

124,000

Beginning
Balance
32,000
20,000
59,000
398,000
167,000

12,000
29,000
20,000
25,000
75,000
38,000
23,000

120,000

Change
+13,000
+3,000
+3,000
+24,000
+30,000

+4,000
+4,000
+3,000
1,000
+2,000
+1,000
+2,000
+4,000

either
Use
Use
Use
Source

Source
Source
Source
Use

Source
Source
Source




*The change in retained earnings consists of two elements: net income (loss) and dividends. The net income of $8,000 is classified as a source and the dividends of $4,000 are classified as a use.
177. Vanmetre Corporation’s balance sheet and income statement appear below:

Comparative Balance Sheet
[image: image127.png]Ending | Beginning
Balance | Balance

Assets

Cash and cash equivalents 31 $29
Accounts receivable 61 7
Inventory 59 61
Plant and equipment 624 550
Accumulated depreciation (349) (319)
“Total assets 486 394
Liabilities and stockholders” equity

Accounts payable §53 54
Wages payable i} 21
‘Tazes payable. 23 23
Bonds payable 3 130
Deferred taxes 27 5
Common stock 61 0

Retained earnings
Total iabilities and stockholders” equity





Income Statement
[image: image128.png]Sales $807

Less cost of sales 491
Gross margin 315
Less operating expenses 182
Net operating income. 133
Gain on sale of plant and equipment _16
Income before taxes. 149
Less income tases, 45

MNet income §loa




Cash dividends were $28. The company sold equipment for $18 that was originally purchased for $14 and that had accumulated depreciation of $12.

Required:

Prepare a statement of cash flows for the year using the indirect method.

Level: Medium    LO:  2,3

Ans:
[image: image129.png]Net income. $104
Adjustments to convert net income f0 a cash basis

Depreciation charges. 42
Decrease in accounts receivable 12
Decrease in inventory 2
Decrease in accounts payable [6)
Decrease in wages payable (6]
Increase in taxes payable 2
Increase in deferred tases 2
Gain on sale of plant and equipment ()
Net cash provided by operations 146
Investing activities.
Proceeds fom sale of plant and equipment i
Increase in plant and equipment. 148)
Net cash used for investing activities. 130

Financing activities.

Increase in bonds payable 13
Increase in common stock 1
Cash dividends fe)
Net cash used by financing activities [}

Net increase (decrease) in cash and cash equivalents
Cash balance, beginning
Cash balance, end.





178. Mattix Corporation’s balance sheet and income statement appear below:

Comparative Balance Sheet
[image: image130.png]Assets:

Cash and cash equivalents
Accounts receivable
Inventory

Plant and cquipment
Accumulated depreciation
‘Total assets

Liabiliies and stockholders” equity
Accounts payable

Wages payable

Tazes payable

Bonds payable

Deferred taxes

Common stock

Retained earnings

Total iabilities and stockholders” equity

Ending
Balance

$23
39
43
587
(359)
$333

$30
15
2
109
17
51
89

333

Beginming
Balance

$22
40
44
500
(47
$259

$26
18
2
120
19
50
H

25




Income Statement
[image: image131.png]Sales.

Less cost of sales

Gross margin.

Less operating expenses

Net operating income.

Gain on sale of plant and equipment
Income before taxes.

Less income taxes.

Net income.

8972
620
351
200
152
t)
166
50

§16




Cash dividends were $32. The company sold equipment for $20 that was originally purchased for $7 and that had accumulated depreciation of $1.

Required:

Determine the net cash provided by (used by) operating activities for the year using the indirect method.

Level: Medium    LO:  2,3

Ans:
[image: image132.png]Net income.
Adjustments to convert net income f0 a cash basis
Depreciation charges.
Decrease in accounts receivable
Decrease in inventory
Increase in accounts payable
Decrease in wages payable
Increase in fazes payable
Decrease in deferred tases.
Gain on sale of plant and equipment
Net cash provided by operations

$116

Eeo-o--




179. Beltram Corporation’s balance sheet and income statement appear below:

Comparative Balance Sheet
[image: image133.png]Assets:

Cash and cash equivalents
Accounts receivable
Inventory

Plant and cquipment
Accumulated depreciation
‘Total assets

Liabiliies and stockholders” equity
Accounts payable

Wages payable

Tazes payable

Bonds payable

Deferred taxes

Common stock

Retained earnings

Total iabilities and stockholders” equity

Ending
Balance

$30
37
67
601
&7
$358

$42
23
20
141

358

Beginning
Balance

$26
43
63
560
(360)
$332

$46
2
17
[}
2
60




Income Statement
[image: image134.png]Sales

Less cost of sales

Gross margin

Less operating expenses
Net operating incorne.
Less income tases

Net income

$710
43

273
176





Cash dividends were $13.

Required:

Prepare a statement of cash flows in good form using the indirect method.

Level: Medium    LO:  2,3

Ans:
[image: image135.png]et income

Adjustments to convert net income f0 a cash basis

Depreciation charges.
Decrease in accounts receivable
Increase in inventory.
Decrease in accounts payable
Increase in wages payable
Increase in tazes payable
Decrease in deferred taes

Net cash provided by operations

Investing activities.
Increase in plant and equipment.
Net cash used for investing acivities

Financing activities.
Decrease in bonds payable

Increase in common stock

Cash dividends

Net cash used by financing activities

Net change in cash and cash equivalents
Cash balance, beginning,
Cash balance, end.

868
17
2
@
@
1
6]
B

an

an

@)
3

&)
[0}

=




180. Bekwins Corporation’s balance sheet appears below:

Comparative Balance Sheet
[image: image136.png]Assets:

Cash and cash equivalents
Accounts receivable
Inventory

Plant and cquipment
Accumulated depreciation
‘Total assets

Liabiliies and stockholders” equity
Accounts payable

Wages payable

Tazes payable

Bonds payable

Deferred taxes

Common stock

Retained earnings

Total iabilities and stockholders” equity

Ending
Balance

$27
30
65
500
178;
84

$46
23
27
78
19
34
217
jasg

Beginning
Balance

$29
26
61
390
160
£346

§43
%
u
90
23
a0

ie)

£346




The net income for the year was $126. Cash dividends were $21.

Required:

Prepare a statement of cash flows in good form using the indirect method.

Level: Easy    LO:  2,3

Ans:
[image: image137.png]Net income.

Adjustments to convert net income f0 a cash basis

Depreciation charges.

Increase in accounts receivable

Increase in inventory.

Increase in accounts payable

Decrease in wages payable

Increase in fazes payable

Decrease in deferred taes
Net cash provided by operations

Investing activities.
Increase in plant and equipment.
Net cash used for investing acivities

Financing activities.
Decrease in bonds payable

Increase in common stock

Cash dividends

Net cash used by financing activities

Net change in cash and cash equivalents
Cash balance, beginning,
Cash balance, end.

$126
i
@
@

3
0]

3
O]
137

110
10

a2
4

@
)

@
iz





181. Krauser Corporation’s balance sheet and income statement appear below:

Comparative Balance Sheet
[image: image138.png]Assets:

Cash and cash equivalents
Accounts receivable
Inventory

Plant and cquipment
Accumulated depreciation
‘Total assets

Liabiliies and stockholders” equity
Accounts payable

Long-term debt.

Common stock

Retained earnings

Total iabilities and stockholders” equity

Ending
Balance

$28
60
41
454
(206)
fii]

$43
190

fii]

Beginming
Balance

$31
65
42
380
172
£346

$45
260
40

5346




Income Statement
[image: image139.png]Sales

Less cost of sales

Gross margin

Less operating expenses
Net operating incorne.
Less income tases

Net income

$874
533
341
161
150
54

§126




Cash dividends were $24.

Required:

Prepare a statement of cash flows in good form using the indirect method.

Level: Medium    LO:  2,3

Ans:
[image: image140.png]Net income. $126
Adjustments to convert net income to a cash basis
Depresiation charges. u

Decrease in accounts receivable 5
Decrease in inventory 1
Decrease in accounts payable o)
Net cash provided by operations 64
Investing activities.
Increase in plant and equipment. )
Net cash used for investing acivities )
Financing activities.
Decrease in long-term deb. )
Increase in common stock 1
Cash dividends

Net cash used by financing activities

Net cash flow
Cash balance, beginning,
Cash balance, end.





182. Macedonio Corporation’s balance sheet appears below:

Comparative Balance Sheet
[image: image141.png]Assets:

Cash and cash equivalents
Accounts receivable
Inventory

Plant and cquipment
Accumulated depreciation
‘Total assets

Liabiliies and stockholders” equity
Accounts payable

Long-term debt.

Common stock

Retained earnings

Total iabilities and stockholders” equity

Ending
Balance

$47
53
63
543
(295)
w16

$52
260
51
53

416

Beginming
Balance

$37
57
[}
440
(255)
$339

$50
250
50
_ap
$339




Net income for the year was $77. Cash dividends were $13.

Required:

Prepare a statement of cash flows in good form using the indirect method.

Level: Easy    LO:  2,3

Ans:
[image: image142.png]Net income. $77
Adjustments to convert net income f0 a cash basis

Depreciation charges 40
Dectease in accounts receivable 4
Increase in inventory [©]
Increase in accounts payable 2
Wet cash provided by operations 120
Investing activities
Increase in plant and equipment 10
et cash used for investing activities 10

Financing activities.
Increase in long-term debt

Increase in common stock

Cash dividends

Net cash used by financing activities

Net cash flow
Cash balance, beginning,
Cash balance, end.

iz k-




183. (Appendix) Harrer Corporation’s balance sheet and income statement appear below:

Comparative Balance Sheet
[image: image143.png]ZEnding Balance | Beginning Balance

Assets

Cash and cash equivalents $32 §35
Accounts receivable ) 7
Inventory 41 42
Plant and equipment 443 370
Accumulated depreciation (154 64
“Total assets 396 354

Liabiliies and stockholders” equity
Accounts payable

Wages payable

Tazes payable

Bonds payable

Deferred taxes

Common stock

Retained earnings

Total iabilities and stockholders” equity





Income Statement
[image: image144.png]Sales.

Less cost of sales

Gross margin.

Less operating expenses

Net operating income.

Gain on sale of plant and equipment
Income before taxes.

Less income taxes.

Net income.

$923
604
319
169
150
i
161

i3




Cash dividends were $29. The company sold equipment for $15 that was originally purchased for $6 and that had accumulated depreciation of $2.

Required:

Using the direct method, determine the net cash provided by (used by) operating activities.

Level: Medium    LO:  2,4

Ans:
[image: image145.png]Sales.

Increase in accounts receivable
Cost of sales

Decrease in inventory
Decrease in accounts payable
Operating expenses.

Increase in wages payable
Depreciation charges.

Income taxes.

Increase in faes payable
Increase in deferred taxes

Net cash provided by operating activities

$923
0
604
[0]
2
169
[©)]
e
43
@

$920

605

13




184. Molony Corporation’s balance sheet and income statement appear below:

Comparative Balance Sheet
[image: image146.png]Assets:

Cash and cash equivalents
Accounts receivable
Inventory

Plant and cquipment
Accumulated depreciation
‘Total assets

Liabiliies and stockholders” equity
Accounts payable

Wages payable

Tazes payable

Bonds payable

Deferred taxes

Common stock

Retained earnings

Total iabilities and stockholders” equity

Ending
Balance

§26
44
38

646

@73

$431

$65

2
17
7
16
7
216
$431

Beginning
Balance

$22
)
40
500
(260)
8351

$64
25
16
70
19
70
&
f}




Income Statement
[image: image147.png]Sales

Less cost of sales

Gross margin

Less operating expenses
Net operating incorne.
Less income tases

Net income

$1,059
698
361
117
244





Cash dividends were $42.

Required:

Prepare the operating activities section of the statement of cash flows using the direct method. In other words, determine the net cash provided by or used by operating activities using the direct method.

Level: Medium    LO:  2,4

Ans:
[image: image148.png]Sales.

Decrease in accounts receivable
Cost of sales

Decrease in inventory

Increase in accounts payable
Operating expenses.

Decrease in wages payable
Depreciation charges.

Income taxes.

Increase in taes payable
Decrease in deferred tases.

Net cash provided by operating activities

$1,059
_5
638

s

117

k.

ki)
[0]

$1,064

695

107

157




185. Digby Corporation’s balance sheet and income statement appear below:

Comparative Balance Sheet
[image: image149.png]Assets:

Cash and cash equivalents
Accounts receivable
Inventory

Plant and cquipment
Accumulated depreciation
‘Total assets

Liabiliies and stockholders” equity
Accounts payable

Long-term debt.

Common stock

Retained earnings

Total iabilities and stockholders” equity

Ending
Balance

$34
76
34
607
(G50
#4010

$30
265
43
63

[z

Beginning
Balance

$28
65
ki
490
(328)
$293

$36
290
40
5]
$293




Income Statement
[image: image150.png]Sales

Less cost of sales

Gross margin

Less operating expenses
Net operating incorne.
Less income tases

Net income




Cash dividends were $29.

Required:

Prepare the operating activities section of the statement of cash flows in good form using the direct method.

Level: Easy    LO:  2,4

Ans:
[image: image151.png]Sales $1,075

Increase in accounts receivable an $1,064
Cost of sales 654
Dectease in nventory @
Dectease in accounts payable 6 656
Operating expenses 135
Depreciation charges. @ 163
Income taxes 7

et cash provided by operating activities )
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